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(RBFD)
hRX  |BEEATET7/S—F 10 14 44 A3
hAX |BEEATET7/S—k 7 14 44 A3
X BBRET 7 /<— b 4 12 45 A3
X BARETSE 2 7/¢— b 10 8 50 A2
hARX  |BEEARTE7/S—k 1 14 52 A2
BX MBI T B 7 /89— b 1 4 40 A3
BX CRATHT /= h 1 14 45 A3
BX TATHT7/S—h 2 13 46 A3
BX EEMT T /N— b 38 10 45 A3
BX COHUTBE2 78— b 7 14 46 A3
BX BEUT B 7 /8= bk 2 9 49 A2
BX BEIETE7/N— b 3 8 48 A3
BX BEETE7/N— b 4 9 50 A2
HEX Filing 78—k 4 5 46 A3
FEX FilinAy 78— b 5 5 44 A3
| FlunA Y T7/8—= 6 5 43 A3
HrEX FiisNAy 78— b 6 5 44 A3
FEX FilinAg 78—k 7 5 43 A3
HEX Filing 78—k 8 5 43 A3
#rEX FiisNAy 78— h 8 5 44 A3
HEX FilinAg 78—k 9 5 44 A3
HEX Filing 78—k 11 14 51 A2
FEX FilinAg 78—k 12 5 44 A3
X Filing 78—k 13 5 44 A3
#rEX FiisNAy 78— b 14 5 44 A3
FEX FilinAg 78—k 15 5 44 A3
HEX Filing 78—k 16 5 43 A3
FEX FilisnAy 78— b 16 5 51 A2
HEX FilinAg 78—k 17 5 44 A3
FEX Filing 78—k 18 10 45 A3
FEX FilinAg 78—k 19 5 43 A3
| Filing 78—k 20 5 44 A3
FEX FilisnAy 78— b 20 5 47 A3
#EX Filing 78—k 21 5 44 A3
HrEX FiisNAy 78— b 21 5 46 A3
FEX FilisnAy 78— b 22 5 44 A3
| FlunA Y T7/8—= 22 5 46 A3
FrEX FiisNAy 78— h 23 5 46 A3
FEX FilinAg 78—k 24 5 47 A3
HEX Filing 78—k 26 5 44 A3
FEX FilinAg 78—k 28 14 48 A2
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(RRF)
FEX IENIIA VAT N 29 5 45 A3
FEX Filu/NAy 78—+ 30 14 45 A3
HEX FilanAy 78—k 31 5 44 A3
HrE FiinAga Yy 7/8—k 32 5 43 A3
FEX FlunAy 78—k 32 5 44 A3
FEX Filu/nNAy 78—+ 34 12 44 A3
HrEX FiinAay 78—k 35 14 47 A3
FEX |EAART /= 2 5 40 A3
FEX FARART /X— b 3 5 41 A3
FEX FARART /X— b 4 5 42 A2
MEX  |ERART /= h 4 5 43 A2
EX TEEET 7 /8= k 2 5 39 Bl
FEX RIEFT/R— k 1 4 41 A3
HEX RIEFT7/—k 2 5 39 A3
HTEX RIEFT7/8— k 3 5 41 A3
HEX  |RMEE7/S— b 1 14 44 A3
EX | RMEET/ b 2 9 44 A3
FEX FRETE 2 7/3— b 1 3 46 A2
HrEX BARAGR—TEHT/S—h 1 10 46 A2
HEX BAARARMTET/3— 1 10 46 A2
XRX B2 KT /X— b 2 5 40 A3
XRX AP—T BT /3= b 15 14 46 A2
BERKX T&—TH7/Xx—+ 1-2-10 11 43 A3
BERKX REATBE7/S—F 11 14 45 A3
FHKX XiE—TE7/¢—Fh 13 5 40 A3
=HX XE—TH7 /%= 14 5 40 A3
SHKX XIE—THE7/¢— bk 15 5 40 A3
FHKX XiE—TE7/¢—F 16 5 40 A3
=HX XAE—TB7/3—F 17 5 40 A3
SHKX XiE—THE7/%—+h 18 5 40 A3
ZHX XAE—TH7 /Y= 19 5 40 A3
EHKX XIE—TH7T /%= 20 5 40 A3
FHKX XiE—TE7/¢—Fh 21 5 40 A3
=HX XIE—TH7 /%= 22 5 40 A3
EHKX XiE—THE7/%—+h 23 5 41 A3
FHX XAE—THB7/¢—F 24 5 41 A3
=HX X{E—THB7/%—=F 25 ) 41 A3
FEHX XiE—TE7/%—+h 26 5 41 A3
ZHX XE—THT /%= 27 5 41 A3
SHKX XiE—THE7/%—+h 28 5 41 A3
EHKX XAE—THB7/¢—F 29 5 41 A3
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SHKX Xie—THE7/%—+h 30 5 41 A3
FHKX XiE—TE7/¢—Fh 31 5 41 A3
=HX X{E—THB7/%—F 32 5 41 A3
SHKX XiE—TE7/%—+h 35 12 42 A3
=HX XAE—TH7 /Y= 36 12 42 A3
=HX Xe—TBE2T7/8—F 1 12 47 A2
=HX NLR=TB7/%—=F 5 5 42 A3
=X NLE=TB7/%—F 6 4 42 A3
SHKX SHIMUTHE7T/S—h 1 5 43 A3
=HX =HETHE7Y/X— b 2 5 43 A3
=HX =HEETHE7/X— b 3 5 43 A3
=HKX =HETHE7Y/N— b 4 5 43 A3
=HX BINAETB7/X—=+ 2 14 45 A3
=HX AE=ZTET/S—F 1 5 48 A3
=HX TN T B 7 /85— b 1 13 48 A3
=HX STEHBMT B 7 /85— b 2 12 48 A3
FEHX ZE/N— | 2 13 54 A2
EHKX S8 T /8— k 3 13 54 A2
=HX HER T /N— b 4 13 54 A2
=HX HEET/X— |k 5 13 54 A2
=HX ZHT/N— 6 13 54 A2
=HKX HEERET/8—F 7 13 53 A2
=HX HEHRT/X— F 8 13 53 A2
=HX HER T /N— b 9 13 53 A2
=HX ZHRT/N— | 15 13 52 A2
=HX ZHT/N— 16 13 52 A2
E2EAX |@EsmT7o— b 17 13 50 A2
=HX ZHRT/N— | 18 13 50 A2
=X NLEAETB7/3—F 1 14 51 A2
=HX SAEMT BT /78— b 1 5 54 A3
THEKX ABMTEH7/S— 1 5 51 A3
TERX AKEMTH7/¢— b 2 12 50 A2
THEKX AKBEETE7/%— b 2 12 54 A2
THRX ﬁ%fﬂ—ﬁ% 27 /8— | 1 5 45 A3
TEX KERATHSE2T7/8—+ 2 5 45 A3
THEKX K%ETE% 27 /X— 3 5 45 A3
TERX KERTHE2T7/X—F 4 ) 45 A3
TEX ﬁ%ﬂTE%Z /N— b 5 5 42 A3
TEKX ﬂ(%fﬂ—ﬁ% 27 /8— 6 5 42 A3
TEX AKERATHSE2T7/8—+ 7 5 42 A3
THEKX ﬂ(%ﬂTE% 27 /8N— 8 5 42 A3
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(RB#D)
TEK | KEETEZ2 7/¢— 9 5 42 A3
STERX k%ETE% 2 78— b 10 5 43 A3
TERX KERATHE2T7/8—+ 11 5 43 A3
TEX | KEETEZ2 7/¢— 12 5 43 A3
THEX  |[KERETESE2 7/¢— 13 5 43 A3
TERX INEF R ET 77 /78— b 1 6 40 A3
STEX [MisHRET 78— k 2 6 41 A3
STER [MiEHFRET7/— k 3 6 40 A3
STERKX 5d\|\|m*;#3€ET7/\"— k 4 6 42 A3
THEX |[H=BE—TE7/¢—h 5 12 44 A3
THEX |[BR=TE7/<—h 1 5 42 A3
TEX |[BER=TE7/<—h 2 5 43 A3
THEX |[BR=TBE7/¢—h 3 5 43 A3
TEX |[BR=TBE7/¢—h 11 5 42 A3
THEX |[BR=TBE7/<—h 12 5 42 A3
THEX |[BR=TE7/¢— b 13 5 42 A3
THEK |[ER=TB7/¢— b 14 5 42 A3
THEKX BIN—TB7/¢—F 1 11 47 A2
THEX |(BFEETE7/¢— b 1 5 42 A3
TERX BFETH7/—F 2 5 42 A3
STEX BFtTE7/Y—+ 3 5 42 A3
TEX  |(BFETE7/S— b 9 5 45 A3
THEX |(BFETE7/S—h 10 5 45 A3
THEX |(BFETE7/<— 11 5 45 A3
TERX BFETHET7/—F 12 12 47 A2
THEX  |(BFEETEZE2 7/¢— 4 5 50 A2
TEX RIN=TB7/%—F 1 11 49 A2
THERX |(BI=ZTE7/¢— 6 5 49 A2
THEX |[ER—TE7/¢—h 1 5 44 A3
THEX |[ER—TBE7/¢—h 2 5 44 A3
THEKX |[=ER—TE7/¢—h 3 5 44 A3
TEX |[ER—TE7/¢— 4 5 44 A3
TEKX |[HR—TEZE27/¢—+ 2 5 48 A2
THER (=R —THEE27/¢— 3 5 48 A2
THEX |[HER—TESE27/¢—+ 3 5 49 A2
THEKX EMANTHESE2 7/8— 1 6 45 A3
THEX |[ERATESZ2 7/¢— 2 5 44 A3
TEX  |[ERATESE2 75— 3 5 44 A3
THEX  |[ERMATESE2 7/¢— 4 5 44 A3
TEX  |[ERMATES2 7/5— 5 5 43 A3
THEKX EWANTHESE2 7/8— 6 5 43 A3
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(RB#D)
THX  [ERATEE2 7/¢—+ 7 5 43 A3
THR [ERATESE2 7/5—+ 8 5 44 A3
THER  |[EWATEE2 7/¢—+ 9 5 45 A3
THER |[BFATE7/S—h 1 4 41 A3
THER |[BFATE7/S—h 3 5 41 A2
IHEX  |RE—TE7/¢—F 27 5 42 A3
IHER  |RE—TE7/¢—F 28 5 42 A3
TIHEK |RE—TE7/¢—F 29 5 42 A2
IHER  |RE—TEBE7/¢—F 30 5 42 A3
IHER |RE—TBE7/¢—F 31 5 42 A3
IHER  |RE—TEBE7/¢—F 36 5 42 A3
IHER  |RE—TE7/¢—F 38 5 42 A2
TIHER |RE—TEBE7/f—F 39 5 42 A2
IHER  |RE—TEBE7/¢—F 40 5 42 A3
IHR  |RE—TE7/¢—F 44 5 42 A3
TIHER  |RE—TEBE7/¢—F 45 5 42 A3
IHER  |RE—TEBE7/¢—F 46 5 42 A3
THER |RE—TEBE7/f—F 47 5 42 A3
IHER  |RE—TE7/¢—F 48 5 42 A3
IHER  |RE—TE7/¢—F 50 5 42 A3
TIHER |RE—TEBE7/¢—F 52 5 42 A3
IHER  |RE—TEBE7/¢—F 53 5 42 A3
THER |RE—TEBE7/f—F 54 5 42 A2
IHEX  |RE—TE7/¢—F 55 5 42 A2
IHER  |RE—TE7/¢—F 56 5 42 A3
TIHER |RE—TE7/f—F 57 5 42 A3
IHER  |RE—TEBE7/¢—F 58 5 42 A3
IHER  |RE—TE7/¢—F 59 5 42 A3
IHER |RE—TE7/¢—F 60 5 42 A3
IHER  |RE—TEBE7/¢—F 61 5 42 A3
TIHER |RE—TEBE7/f—F 62 5 42 A3
IHEX  |RE—TE7/¢—F 63 5 42 A3
IHER  |RE—TE7/¢—F 64 5 42 A3
THEK  |RE—TE7/¢—F 66 5 42 A3
IHER  |RE—TEBE7/¢—F 67 5 42 A3
TIHR  |RE—TE7/¢—F 68 5 42 A3
IHER  |RE—TE7/¢—F 69 5 42 A3
IHER  |RE—TE7/¢—F 70 5 42 A3
IHER |RE—TEBE7/f—F 71 5 42 A3
IHER  |RE—TEBE7/¢—F 72 5 42 A2
IHR  |RE—TE7/¢—F 73 5 42 A3
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STEX RE—TH7/YN—F 74 5 42 A2
STEHX RE—THB7/%— 75 5 42 A3
STEX RE—TB7/%— 76 5 42 A3
STEHX RE—TH7/S— | 77 5 42 A3
STHRX RE—TB7/%— 78 5 42 A3
STEHRX RKE—TH7/N—F 79 5 42 A3
STEHEX RE—THB7/%— 80 4 44 A3
STHRX RE—TB7/%— 85 5 42 A3
STEHX RE—TH7/YN—F 86 12 43 A3
STEHRX RE—TB7/%— 87 5 42 A3
STERX RE—TH7Z/x—F 88 5 42 A3
STEHEX RE—TH7/%— | 89 5 42 A3
STHRX RE—TB7/%—F 90 5 42 A3
STEX EMETBET7/{—k 5 5 42 A3
STHX HEMETHET7/S— 6 5 42 A3
STERX =M TET7/S— 7 5 42 A3
STEHX EMETBET7/{—k 8 5 42 A3
STHRX EMETET7/S— 9 5 42 A3
STEHRX E S ol = AC 10 5 42 A3
STEHEX HWETHT7/S— 11 5 42 A3
STEHRX EMETET7/S— 35 8 50 A3
STEX EL S el N = AT 36 3 50 A2
TERK  |EMLTEE2 7/ - F 3 5 50 A2
STEHRX RKENTEHT7/N—k 1 6 42 A3
STEHEX KENRTBHT7 /3= 2 6 42 A3
STEX KENRTET7/N—k 3 6 44 A3
STEX \ETTH /M= 2 5 42 A3
STEHRX EE"TTHT7/N—F 3 5 42 A3
STEHRX |EZTH/N—F 4 5 42 A3
STEHX MAW=TBEZE2 7/X—F§ 1 5 42 A3
STHRX MM =TBEZE27/%— 2 5 42 A3
STEHRX MUM=TBEFE27/%—k 3 5 42 A3
TEHEX AW =TBEZE2 7/X—F 4 5 42 A3
STERX MM =TBZE27/%—k 5 5 42 A3
STEHX MM=TBEE27/%— 6 5 42 A3
STEHRX MAW=TBEE2 7/{—§ 7 5 42 A3
STERX RKEANTBE7/8—k 1 6 42 A3
STEHEX KEANTBHT7 /8= 2 6 42 A3
STHRX HiGMHMT B 7/8— b 1 5 43 A3
STEX HiGMHMT B 7 /8— b 2 5 43 A3
STEHRX HiGMHMT B 7/8— b 3 5 44 A3
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THEX  |[EBETE7/$—+ 11 5 45 A3
THEK  |EBETE7/$— 12 5 45 A3
THER |[dW—TBE7/¢—+ 1 5 43 A3
THER |[W—TBE7/¢—F 2 5 43 A3
THEK |[dB—TE7/—F 3 5 43 A3
THER |[W—TBE7/¢—F 4 5 43 A3
THEK |[W—TBE7/¢—+ 5 5 43 A3
THEK |[B—TE7/¢—F 6 5 43 A3
THER |[dW—TBE7/¢—F 7 5 43 A3
THEK |[dW—TBE7/¢—+ 8 5 43 A3
THER |[ERETBE7/S—F 3 5 43 A3
THEX  |[ERETE7/S—h 4 5 43 A3
THEK |[EREAETBE7/S—h 5 5 43 A3
THER |[ERETBE7/S—F 6 5 43 A3
THER  |[ERETE7/S—h 9 5 43 A3
THER |[EWETBE7/S—h 10 5 43 A3
THER |[mBAETE7/S—F 12 5 43 A3
THEK |[ERETBE7/S—h 13 5 43 A3
THER |[ERETBE7/S—F 14 5 43 A3
THER |[ERETE7/S—h 15 8 43 A3
THEKR  |[#hEsE=TBE7/¢—+h 14 11 43 A3
THEX  |[EWZTE7/S—h 1 5 43 A3
THK  |[EWZTE7/S—t 2 5 43 A3
THER |[®EWZTE7/S—F 3 10 43 A3
THER |[ERZTE7/S—F 4 10 43 A3
THR  |[ERZTE7/S—h 5 5 43 A3
THER |[EWZTE7/S—F 6 5 43 A3
THR  |[EWZTE7/S—h 7 5 43 A3
THER |[EWZTE7/S—t 8 5 43 A3
THER |[EWZTE7/S—h 11 10 43 A3
THEK  |[EWZTE7/S—h 12 5 43 A3
THER |[EWZTE7/S—F 13 5 43 A3
THER |[EWZTE7/S—h 14 5 43 A3
THEKR |[EWZTE7/S—t 16 5 43 A3
THER |[EWZTE7/S—F 19 5 43 A3
THER |[ERZTE7/S—h 20 5 43 A3
THER |[EWZTE7/S—F 21 12 43 A3
THER [ERZTE7/S—h 22 12 43 A3
THK  |[EWZTEE37/{—+ 4 5 44 A3
TER |[EWZTBEE37/¢—+ 5 5 44 A3
THR |[EWZTBEE37/S—+ 6 5 44 A3
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TEX BM_TH®E3IT7/X—+ 7 45 A3
THEX EWMZTHE3I7/S—+ 8 45 A3
TERX REBEMTESE2 7/8—+ 16 12 44 A3
STEX HE=TB7/X—F 1 14 44 A3
THEKX RB=TH7/{—+| 2 14 44 A3
TERX ig.//\ TE7/N—=+F 1 5 44 A3
THEKX SR—THB7/%—F 2 5 44 A3
STEHX u’?_l —THE7/X—F 3 14 45 A3
TEX BE—THB7/%—F 4 5 44 A3
TEKX RE-TH7/f—+ 1 14 45 A3
TERX RE-—TH7/S—F 2 8 44 A3
TERX RE-TH7/f—F 4 8 44 A3
TERX k%/\TE% 27 /8— k 1 5 45 A3
TEX KENTHZE2 7/8—+ 2 5 45 A3
THEKX ﬂ(%/\TE% 27 /XN— 3 5 45 A3
TERX KENTHE2 78— 4 ) 45 A3
TEX KENTHE2T7/8— 5 5 45 A3
TERX k%/KTE% 27 /8— k 6 5 45 A2
TERX KENTHZE27/8—+ 7 5 45 A2
THEX j’(%/\TE% 2 7/%— b 8 5 45 A3
THRX AKEANTEE3IT7/—F 20 11 46 A3
TEX EHIUTET/$— bk 1 14 45 A3
THEKX BT B 7 /83— b 2 14 45 A2
TERX AT BT /$— bk 17 13 48 A3
THEX W —TBEE2T7/8—F 2 5 46 A3
STEHX %}J‘H—TE /N—k 15 14 46 A2
TERX R — 7 /X— b 7 12 46 A3
THEX AW ZTHE7/{\—*h 1 14 46 A3
TERKX iﬂ'?_lfﬁ\:TE% 27 /3— 28 11 46 A2
TERX WEZTHE2T7/8—F 29 14 46 A2
TEHX W —THEE3I T7/8—h 1 14 46 A3
TERX M —TBEEIT7/X\—} 2 14 46 A3
THEKX W —TBEEIT7/X\—} 1 14 47 A3
TERKX tW—THZE3 7/5—F 2 14 47 A3
TEX BFNATHET7/¢—+ 2 5 47 A3
THEKX EWRTE7/8—k 1 10 48 A3
TEHX ERTBT7/¢—k 2 10 50 A2
TERX HA—TB7/3—Fh 1 11 50 A2
TEKX EMATHEE2 7/X—hF 4 5 53 A3/A2
TEX BE—THBE27/X—}F 4 10 53 A2
THEKX EBFATEHT/S— 2 12 53 A2




BREE

X4 M4 SR P24 WEEZ > 7
(RBFD)

TEX HLI=ZTEH7/S— b 9 14 53 A2/A3
aa) lHX Balll 78—k 1 5 42 A3
aal X BRI T 8=k 2 5 42 A3
) X HRINE 27—} 15 5 43 A3
am) 11X BHRINE2T7/—F 16 5 43 A3
aal 1 [X EmIE2 78—} 17 5 43 A3
am) 11X BT /R—=F 26 7 43 A3
am) 11X E@mIESL 78— b 11 14 45 A2
) X EmIIEDL 7=} 12 14 45 A2
am) 11X EmIEL 78— b 13 5 45 A3
I |E&INE 3 T7/8—h 6 14 45 A3
mm) X BR)IE 37—k 11 14 45 A3
am) 11X RAKHZTEH7/¢—+ 6 14 48 A2
aa) [1[X Bm/ll—TBE7/X—=+ 7 12 54 A2
am) 1 [X AT B /83— b 1 7 55 A2
aa) [[[X NHARTET/¢—F 2 14 55 A3
) X JUVBBAT B 7 /83— k 4 14 55 A3/A2
HEKX BXARRTE7/X—F 4 3 53 A2
HEX BHE-TH7?/Y—F 1 5 44 A3
HEKX BEE—-TH7/\—+ 2 5 44 A3
HEKX BEE2—TH7/\—+ 3 5 44 A3
HEKX BHE-—TH7?/Y—F 4 5 43 A3
HEKX BEEZ2—TH7/\—+ 5 5 43 A3
KHERX AKHFA=TBE4LT/X—} 2 5 53 A3
pN==1E8 ABRA=TBEFE4LT7/%— 3 5 54 A3
KHEKX AZAE=THZE6 7/%— b 27 4 54 A2
KHERX AHA=THELT7/X—F 1 5 54 A3
KHEKX AKHFEA=THT7 /Y= 16 11 44 A2
KHEX ABA=TEE27/8— 1 12 45 A3
KHEX ABB=ZTEHE27/3— b 2 5 44 A3
pN==1ES AHA=THE 3 T7/X—F 6 3 46 A2
KHX EAE—THB7/x—+ 11 5 43 Bl
KHEKX EEEAE—THB7/¢—+ 11 5 48 A3
KHEKX EEA—TEB7/Y— 12 5 48 A2
KHX mEEH—TB7/¢—F 13 3 48 A2
KHEX PP T B 78— b 1 5 52 A2
KHEKX PN T B 77/ — b 2 8 52 A2
KHEX EEH-TE7/S— 6 5 54 A3
KHEKX BB —TE7/X—+b 1 5 41 A3
KHX B —T BT /3— bk 2 5 42 A3
KHEX BEAE—T BT /38— b 3 5 42 A3
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KHX AT R— | 1 5 41 A3
KHEKX AT 8= | 2 5 41 A3
KHEX BT /N— b 3 5 41 A3
KHERX P2 T/8— bk 1 5 42 A2
KHEKX FEHPE 2 T7/X— | 2 5 42 A2
RHERX FPEE 2 T /85— b 3 5 42 A3
KHEKX EE 2 T7/X— | 4 5 42 A3
KHEX PIBNTE 7 /8= b 1 5 41 A3
KHERX PIEART B 77— b 2 5 41 A3
KHEKX R —T B 7 /8= 1 5 44 A3
KHEX HrE—TET7/x—F 2 5 43 A3
KHEX 7B —TET/X—+ 3 5 44 A3
KHERX RPHZTBE3IT7/8X— 2 5 43 A3
KHERX APHZTBEE3IT7/8— 3 5 43 A3
KHERX ARPHZTBE3IT7/X—=} 4 5 43 A3
KHERX RPHZTBE3IT7/8N—F 5 5 43 A3
AHKX PHATHY?/N—F 5 5 43 A3
KHEX PEHATET7/¢—+ 6 5 43 A3
KHX PHATH7/N—+ 10 4 43 A3
KHEKX PIHATHY/X— 11 5 43 A3
KHERX PEHATH7/¢—+ 12 5 43 A3
KHEEX KAOZTH7/¢—+ 15 12 44 A3
KHEX KAOZTHE7/¢—F 16 12 44 A3
KHEX W ENRTHET /= 2 5 45 A3
KHEKX W ENRTEHI /= F 3 5 44 A3
KHEX WERTBE7/I— 4 5 44 A3
KHX WMERTHY/X—F 2 5 44 A3
KHEKX WMERATHT /= F 3 5 44 A3
KHEKX WEATHB7/I—F 4 5 45 A3
KHERX BMANRNTET/N—F 2 12 46 A2
KHEKX EHARNT BT /83— b 7 12 46 A2
AHKX AFZFEE—T B T7/8— 12 12 45 A3
KHEKX FHMAE—TEBE7/\—F 1 5 46 A3
KHEKX AT BT /3\—h 2 7 46 A3
KHEEX FMAE"THEH®27/8—F 5 4 48 A3
KHEKX mHE—TH7 /%=t 11 5 46 A3
KHKX MAR—THB7/¢—F 12 5 46 A3
KHKX MR=THE7/¢— b 18 7 46 A3
AHEKX FERE=TH7/¢—F 20 5 46 A3
KHEEX MHE=TH7/Y—+ 1 3 53 A2
KHEKX TAFZTET7/S—F 27 14 46 A3
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KHEEX EIE—TBE27/¢—F 1 9 46 A2
KHEKX EIAE—TBE2T7/8X—F 2 12 47 A3
KHEKX B/ =TH7/x—+t 14 13 46 A2
KHEKX AFHZTBE4L T7/X— 12 5 48 A2
pN==1ES APH_ZTEE AL T7/8— b 12 5 48 A3
KHX WMEANTE7 /3= F 7 3 48 A2
KHEKX W ENTEHT /(= F 8 4 48 A2
KHEKX AFZAMT BE2 7/8—F 12 4 52 A2
KHEEX ZENZTHES$2T7/%—+ 19 4 54 A2
KHEKX ZENZTBEZ®27/%— | 21 3 54 A2
RHAKX RHER—TBET7/S— b 2 12 54 A2
AHEX ABE—THT7/S— b 3 11 54 A2
pN==1ES KHFE—TBT7/3—F 3 11 54 A3
KHX ABE—THT7/S—F 6 11 54 A2
pN==1E8 AHBA—TEHE3IT7/I— b 10 5 55 A2
HHAX |BE—TB7/S—F 1 4 47 A2
HHAX |BE—TB7/X—F 3 3 50 A2
HHAX |BE—TB7/X—*F 4 4 50 A2
HHAEX |[KE=TBH7/X—F 1 3 53 A2
HHAEX |[kE=TH7/f—*+ 2 3 54 A2
HHAX |[kE=TB7/{—+ 3 3 55 A2
HHAX |JWEL=TB7/¥—+F 14 3 51 A2
HHAX |J\EL=TB7/\—F 17 3 52 A2
HHAX |JWEL=TB7/¥—F 19 3 48 A2
HHAX |J\EL=TB7/\—+ 20 3 52 A2
HHAX | EABERTET/X—F 1 3 53 A2
HHAX | EABNRTEY/X—F 2 3 53 A2
HHAX |FINEZTE7/S—F 1 3 55 A2
HHEX |FNEZTET7/Y— 2 3 55 A2
HHEX |FEZTE7/—+ 2 3 54 A2
HHAX |HFEHZTE7/f—+ 3 3 54 A2
HHAX |HEZTHE27/X—F 1 3 52 A2
HHAX |[KEZTHFE27/¢—+ 2 3 52 A2
HHAX |ZE=ZTHEH7/S—F 14 4 55 A2
HHAX |ESWARTE7/X—=+ 1 5 55 A2
HHAEX |[EELUARTET/$—F 2 3 55 A2
HHAX BT /8= k 5 ) 41 Bl
HHEX |BEMETE7/S— 1 5 43 A3
HHAX |MEMNTE7/8— b 1 5 45 A3
HHAX |mEMETE7/S— b 2 5 45 A2
HHAEX |MWBETE 7 /8= 3 5 45 A3
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HHEX |mEETET7/S— 4 5 45 A3
HHEAX iRtEE T B 77 /83— b 5 5 45 A3
HERX |HEARTET /-t 1 3 45 A2
HHAX |ZEATBH7/X—F 2 3 45 A2
HHAX |ZEATBET7/X—F 3 3 45 A3
HHAX |KEH—TB7/X—*F 3 5 46 Bl
HHAX |KE—TB&E27/{—=F 5 3 48 A2
HHAX |KE—TEBZ%E27/X—F 6 3 48 A2
HHEX |[t&—TB7/{—F 1 3 47 A2
HHAX |[—TB7/X—F 2 3 47 A2
HERX |(ti—TEB7/¢—+t 3 3 48 A2
HHEX |F4ANNRTET7/S—F 5 3 50 A2
HHAX |4 HNRTET7/I—F 6 3 50 A2
HHAX |—THZ 2 7/X—+ 1 3 50 A2
HHAX =ZBZTHT7/X—}F 1 5 50 A2
HHAX E4R-ZTH7/%—+ 2 ) 50 A2
HHAX |E2R=TH7/Y—+ 4 5 50 A3
HHAX |E2R-TBE7/¢—F 5 5 50 A3
HHAX |E2RZTBH7/Y—+ 6 5 50 A2
HHAEX |E2RZTE7/¢—F 7 5 50 A2
HHAX |E2RZTE7/¢—F 8 5 50 A2
HHAX |E2RZTBH7/Y—+ 9 5 50 A2
HHAEX |E2R-TE7/¢—F 10 5 50 A2
HERX (EZRTE7/\—F 11 5 50 A2
HHAEX |E2R-TE7/¢—+F 12 3 50 A2
HHAX |E2RZTEH7/¢—F 13 3 50 A2
HHAEX E2R°ZTH7/S—+ 14 5 50 A2
HHAEX |BR=TE7/f—+ 7 3 50 A2
HERX |BR=TEB7/¢—+t 10 3 50 A2
HEARX HIR_TH7/¢— b 10 6 43 A3
EAKX HERZTHB7 /Y= 11 6 43 A3
EAK BER_ZTHT /8= F 13 6 42 A3
EARX HTRZTBH7/%— b 14 6 45 A3
EAKX HERZTH7 /Y= 42-9 5 45 A3
EARX HRZT B /3= 42-9 5 46 A3
EAX HERZTH7 /Y= 42-15 5 46 A3
EEX HRZTH7/3—F 43-12 6 46 A3
EARRX HRZTH7/%—Fh 49-1 6 45 A3
EAKX HERZTHB7 /Y= 49-1 6 49 A3
EARX HRZTH7/Y—F 49-2 6 45 A3
EAEX HERZTHY/Y— b 49-3 6 45 A3
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HEAX HIX_TH7/Y— b 49-4 5 49 A3
EAX By RZTHE27T7/8—h 50-8 6 46 B1
EAX By RZTHEE27/8—h 52-1 6 46 A3
EEX |y AZTBEHE27/5—+ 52-2 6 46 A3
EAX  |BrRZTHEE27/8— ¢ 53-8 6 46 B1
EEX |BrAZTEHE27/8—+ 54-1 5 45 A3
X |y AZTBEE27/85—h 54-2 5 45 A3
EAX  |ErRZTHEE27/8—h 54-3 5 45 A3
EEX |y AZTEHE27/5—+ 55 6 45 A3
EAK |REETE7/S—h 2 14 45 A3/A2
EAX  |EE=ZTBET7/ -t 1 4 46 A3
EAX |[EER=TE7/S—h 2 4 46 A2
EAX [EAKRE—THBE7/¢— 2 4 48 A3
EEX BB ARE—THE7 /b 3 4 48 A3
EAX [EAKRE—THE7/¢—t 5 4 48 A3
X  |mamTE7/S— b 1 3 50 A2
hHX  |mEmETE7/S— b 2 3 50 A2
FEX  |REBhRR-ZTHT/— b 10 9 43 A3
X L= TE7/S— b 2 3 44 A2
FEHX |hHAEHATHET/— b 1 5 46 A3
hEX  |hBAEATE7/S— k 2 5 46 A3
FEBX  |mEATET7/S— b 1 5 52 A2
hBX  |mEATET7/S— b 2 5 52 A3
EitR |/ ARZTB7/¢—h 10 3 48 A2
EEK |/ ARKZTBET7/S— 13 3 48 A2
EitR |/ ARZTB7/¢—h 15 3 48 A2
EitR  |[MRE-TBE7/{—F 20 3 48 A2
FiX  |ARLETE7/S—h 10 3 53 A2
AR AFWLATE7?/S— 12 3 53 A2
EiX  |ARWLETET7/S—h 26 3 53 A2
EiRX | THEZTBEF27/¢—+ 24 3 52 A2
HitX | THEZTBH27/¢—+ 5 3 52 A2
EiX | AEZTE7/<—Ft 10 4 49 A2
iR |BAEZTE7/S—F 10 4 50 A2
FitR  |[BAF—TE7/<— | 8 3 53 A2
EiRX | HEZTE7/S—Ft 1 4 48 A3
EitX | HE=ZTE7/I—F 4 48 A3
FiX  |HE=ZTEH7/S—Ft 4 3 48 A2
EAR  |fEEs R =ZTBE7/8— k 20 4 44 A3
R |ffEs B =TBR7/$— k 25 4 44 A3
EAE  |fEs RI=ZTBE7/— k 26 3 45 A2
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it [X EON=ZTHT/S— bk 19 14 - 44 A3
FZat X EHENMTEH7/N—+ 1 3 46 A2
it [X EHEOTE7?/X—F 1 3 47 A2
it X EHEOTEH?/SN—F 2 3 46 A2
I X EHEBOTE7?/X—F 3 3 46 A2
2l X EHEOTEH?/SN—F 4 3 46 A2
2t X EHENMTEH7/N— 11 3 46 A2
FZal X BHPE—TH7T/{—F 3 5 46 A3
2t [X SHFE—THT /Y= 4 5 46 A3
2t X BHFRE—TH7T/{— 15 3 46 A2
il [X FREER_-THB7/3— b 1 3 47 A2
it X FE—TB7/¢— 1 3 48 A3
2t X FE—THB7/¢—F 2 3 48 A2
25X %EHT TEH7/X—F 1 5 55 A2
25K WARET=THB7/¥{—F 1 5 49 A3
25X /ﬁ? RABT=TH7/%—Fh 1 ) 49 A2
25X e 7/ — b 14 45 A3
25X FPAZT B 7 /85— b 3 12 52 A2
25K FDAZTHT/S—Fh 4 14 52 A2
X FE-TBEE27/3—+ 1 5 53 A3
JbX FE—TEZE27/8—F 2 5 54 A2
JEX FE—THESE27/5—F 3 5 54 A2
JbX FE—TESE27/—F 6 10 51 A2
X FE—TEZE27/8—+ 7 10 52 A2
X FE-TBE27/3—+ 7 10 53 A2
X RPFNT B 7 /8= b 1 5 48 A3
b RPFENT B 7 /38— b 2 5 48 A3
JEX IREEANT BT /83— b 3 8 48 A2/A3
X mrE_THE27/¢—F 1 3 51 A2
X BrE_THZ®E27/X—F 2 3 54 A2
JEX BrEZTESE27/8—F 3 3 54 A2
X BTrEZTH®27/X—F 10 4 51 A3
X FHEZTHB7/N—h 1 5 55 A3
X FHEZTB7/3—=F 2 5 55 A3
JEX pE s I = A 5 55 A3/A2
X FEIZTB7/N—F 5 55 A3
X FFARET /8= b 15 4 46 A3
X FFARET T /8= b 16 10 46 A3
X FFAEIE 2 78—+ 1 4 42 A3
X FFAHEIE 2 78— b 2 43 A3
X FFAHEIE 2 7/8— b 3 43 A3
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X FFAREIE 2 7/8— 4 4 42 A3
X FFARETE 2 7/8— 5 4 42 A3
X mAR=TH7/{\—F} 1 5 42 A3
X fR=TH7 /%= F| 2 5 42 A3
X AR=TH7/X—F 3 5 43 A3
EX fR=TH7/X—+ 4 12 44 A3
X MR=THE27/%—+ 1 5 43 A3
X MR=ZTH®E27/%—F 2 5 43 A3
X MAR=ZTHE27/%—+ 3 5 43 A3
X MR=THE27/%—F 4 12 43 A3
X MR=TH®E27/%—F 5 8 44 A3
X MR=THZE27/%—+ 6 7 44 A3
X MR=TH®E27/%—+ 7 8 44 A3
X MAR=THE27/%—+ 8 5 45 A3
X fE{teE 2 7/8— b 1 4 43 A2
FEX fEBfIEE 2 7/8— b 2 11 45 A3
X WM=TB7 /%=t 1 5 42 A3
X i):ﬁ/u_TE /N—k 2 5 42 A3
X WM=TB7/%—F 3 5 42 A3
FEX ﬂ:a‘ﬂ’u_TE /X— 4 5 42 A2
X iFﬁ/\_TE /N—k 5 5 42 A2
X WM=TB7/%—F 6 5 42 A2
X i):ﬁu_TE R— bk 7 5 42 A2
X BAM=TBE7/X— 8 5 42 A2
X WM=TB7 /%=t 9 5 42 A2
X WM=TB7/%—t 10 5 42 A2
FEX BEM=TH7/¢—+h 11 5 53 A2
X M _—THE7/¢—+t 1 5 43 A3
X EM_—TEZE27/{—F 2 4 44 A3
X WMZTBE27/8N—F 3 4 44 A3
X WM TBEE2 7/8X— 4 5 44 A3
FEX AT HEHSE2T7/8—F 5 5 44 A3
X WM=TBE2 7/X—} 1 5 42 A3
X WM=TBE2 7/X— 2 5 42 A3
X AT B77/3— b 1 5 42 A2
X YRR T B 77— b 2 5 42 A2
FEX MM T B 77— b 3 5 42 A3
X AT B 77/8— b 4 5 42 A3
X YRR T B 77— b 5 5 42 A3
FEX AP ZTEE2 7/8—F 1 5 43 A3
X P ZTHEE2T7/8—F 2 5 43 A3
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X AP ZTHEHE 2 7/8—F 3 12 43 A3
X FEI=ZTHZE27/8—+ 17 5 43 A3
FEX FE=TEZE27/{—F 18 5 44 A3
X FHE=ZTBE27/X—}F 19 5 43 A3
X FE=TEZE27/{—F 20 5 43 A3
EX FHE=ZTBE27/X—}F 21 5 43 A3
X FHE=ZTBE27/X—}F 21 5 44 A3
X FEI=ZTHZE27/8—+ 22 5 44 A3
X BEIN=ZTE7/x— 1 5 43 A3
X BEIIN=ZTB7/X—F 2 5 43 A3
X BEIN=TH7/X—+t 3 5 44 A3
X BEIN=ZTE7/S— 4 5 44 A3
JEX BEIN=THB7/X—+t 5 5 44 A3
X BEIN=ZTHE7/S— 6 5 44 A3
X BEIN=ZTB7/X—F 7 5 46 A3
X BEIN=TH7/X—+t 8 5 46 A3
X BEIN=ZTBE7/%— 9 5 46 A3
FEX BEN=TH7/X—+t 11 5 46 A3
X BEIN=ZTH7/S— 12 5 46 A3
X BEIN=ZTE7/S— 13 8 46 A3
X BHIN=TH7/{—+ 14 11 46 A2
X BEIN=ZTHE7/S— 15 8 46 A3
X BEN=ZTBFE27/%—F 1 11 45 A2
X BTR—TE7/3— 5 43 A3
X fRfTZ=TH7 /%=t 1 5 43 A3
X =T B7/X—=F 2 5 44 A3
X JERBT 77/ — b 13 5 44 A3
X FFATHEH7/X—+ 25 12 44 A2
FEX REBEAT BT /83— b 1 8 45 A3
X FPBATE7/S— 2 5 44 A3
JEX REBEAT BT /83— k 3 5 44 A3
EX FPBATEH 7 /S— 5 7 46 A3
JEX REBRATET7/S— b 6 5 46 A3
X ~PBAT B 7/8—k 7 5 46 A3
X FPBATE7/S— 8 5 46 A3
FEX RPFART B T7/8— b 9 5 48 A2
X PFART B T7/8— b 11 8 48 A3
X REBEATET/S— b 11 8 49 A3
X JLRETEE 2 77— b 12 4 45 A3
X EHREZTH7/X—=F 14 4 45 A3
X FFARTHET7/I—F 60 10 46 A2
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JbX BHIN_TBEE27T7/%—+ 20 3 48 A2
X BENZTBE27/¢—F 20 3 49 A2
X P =TB7/8X—+t 1 5 52 A2
X AP =TE7/x— b 2 4 52 A2
X AP =TBE7/8x—+t 3 5 52 A2
X KPG=TE7/S—F 4 5 52 A3
X AP =TBE7/8x—+t 5 5 52 A3
X P =TB7/8x—+t 6 5 52 A3
X AP =TE7/x— b 8 5 54 A2
X AP =TBE7/8x—+t 9 5 54 A2
X P =TBET7/x—+t 9 5 55 A2
FINX  |FNETERET /= b 2 9 50 A2
)X mINETEMFET/N— b 3 9 50 A2
TN [FRIATE 78— 1 5 42 A3
)X REHEE—TH7/t\—F+ 13 14 45 A3
FelX RAEE-TH7/¢—F 14 5 45 A3
o) 1X RHEE—TH7/f—*+ 20 5 45 A3
FINX  [EEEE-TH7/{—*h 21 14 45 A3
TINX  [EFEZTET7/N—*F 1 13 46 A3
o)X HELTH7?/Y—F 20 5 48 A3
=X ETEETHB7/¢—+t 20 5 49 A3
X HECTH7/Y—+h 20 5 53 A2
)X BHERTEBZE 2 7/8—F 6 8 49 A2
=X BATTE 7 /8= 4 9 48 A2
Fe)llX EBANTE7 /8= k 21 10 54 A2
B X i}i"F—TE 7 /N— k 10 11 46 A3
WEX  |FREZTBE7/¢— 1 5 43 A3
RBX  |FREZTEB7/¢—+t 2 5 43 A3
RiEX FAEZTH7/X—+t 3 5 43 A3
RI&X ¥AEZTH7/X—+t 4 5 43 A3
g X FRAEZTBET7/{— b 8 12 43 A3
WEX  |[FRAEREZTBE7/¢— 8 12 44 A3
RBX  |FAEZTEBE7/¢—+t 9 12 43 A3
wBX  |FAFEZTE7/¢—+t 9 12 44 A3
WEX  |FRAEZTBE7/{— 11 5 44 A3
RBX  |FAFEZTEB7/¢—+t 12 5 46 A3
WEX  |REARET 7 /8= k 1 4 46 A2
g X IR AET 7 /8 — b 2 4 46 A3
RI&X RIGAET 7 /X — b 2 3 53 A2
WEX  |SIEFENTEE2 78— b 1 8 48 A3
RiBX BIBETMT BE 2 7/8—k 2 5 48 A2
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g X BIEFHINT B2 2 7/8— b 3 5 48 A3
RI&X BISFETAT BE 2 7/8— b 1 4 54 A2
RiEX B ATEE 2 7/8—F 2 4 54 A2
g X BIEFRINT BE 2 7/8— b 2 3 53 A2
g X BIEFHTNT BE 2 7/8— b 3 4 53 A2
g X HEAR—TEH7/Y—F 8 3 54 A2
g X HAR—TEH7/¢—F 12 3 55 A3
RiEX KRF=TB7/%—F 1 5 47 A2
g X RE=THE7/Y—h 2 5 47 A2
g X RE=ZTHE7/Y— b 3 5 48 A3
g X RF=THB7/%=+ 4 5 48 A3
g X WRE=THE7/Y—h 5 5 48 A3
g X RE=ZTHE7/%— b 6 5 49 A3
g X ER=TH®27/{—F 1 5 51 A2
g X EIR=THZE27/{—F 2 5 52 A2
s X EIR=THZE27/{—+ 3 5 53 A3
g X WNER—TBET7/3—F 1 5 53 A2
g X WRF—TEZE47/—F 10 5 48 A3
g X BRE—TET/X—} 10 4 46 A3
g X BEAE—TH7/S—F 11 4 46 A3
RiEX MEERET 7 /X— b 1 4 48 A3
g X AT /$— b 2 4 48 A3
g X REZTE7/N— b 1 5 42 A3
g X WFEZTHE7/V—h 2 5 42 A3
g X WREZTHE7/N—h 3 5 42 A3
RIEX =ARETT /X— | 1 5 43 A3
g X EAHT T /N— b 2 5 43 A3
RI&X =ARET T /X— b 3 5 43 A2
RiEX ERN=ZTB7/¢— 1 5 44 A3
g X SN=TH7/Y\—F 2 5 44 A3
g X ERN=TB7/¥\—=F 3 5 45 A3
g X SN=TH7/X—+ 5 11 46 A3
g X SN=THB7/¥\—F 6 5 45 A3
RIEX ERN=TBH7/Y\—F 7 5 45 A3
g X SN=TH7/Y\—F 8 5 46 A3
RIEX PRABRET 77 /X — b 1 5 44 A3
B X RAGRET 77 /X — b 2 5 44 A3
g X BEFH=THE7/s—F 1 5 44 A3
RI&X BISFHT=T B 7/X— b 2 5 44 A3
g X BEFH=TH7/S—k 3 5 45 A3
g X BEFH=TE7/3—F 4 5 45 A3
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WBEX  |sIEFENT B 78— b 1 5 44 A3
WBX  |BIFFENT B 77/ b 2 5 45 A3
RiEX BIEE—TH7 /Y= 1 5 45 A3
WEX  |fIHFE—T B 7/ k 2 5 46 A3
RI&X BIEFHT—T B 7/8— b 3 5 46 A3
RiEX BIEHE—TH/S— 4 5 46 A3
RIEX BEBE—TH 7 /Y= 5 5 46 A3
B X BT /8= b 6 14 45 A2
WEX  |AT /b 7 14 45 A2
RAEX BT /8= 8 14 45 A2
WEX  |/NER—TB7/{—+F 10 3 46 A2
wEX |[/NER—TBE7/{—F 9 5 46 A3
RBX |EN=ZTBEE27T7/¢—+ 9 8 46 A3
wWEX  |[/NER—TBEHE27T7/¢—+t 1 11 46 A2
wEX PRF—TEE27/¢—F 1 5 47 A3
WEX  |/RF—TBEE27T/¢—F 2 4 47 A3
WEX  |IRF—TEHFE3IT7/—*F 1 3 48 A2
RBEX  |BIBEATE T/~ b 1 4 48 A2
WEX | ATE /(- 2 4 48 A2
RBX  |[fERZTBE7/¢— 7 4 50 A3
wEX PRF=ZTEE27/¢—F 1 11 49 A2
WEX  |F4RBEERETT/ - 17 3 51 A2
wBX  |IRF=ZTBEE3T7/¢—+ 1 3 51 A2
WEX  |[FRE—TBE7/¢— 3 8 50 A3
G X BISFEHT T B 7/X— b 6 5 51 A2
& X BISFET =T B 7/X— b 10 5 51 A2
RiEX EE—TE AT 2 11 50 A2
RBX  |RIE—TB7/¢— b 2 3 52 A2
HEX ﬁkﬁ%sz—h 1 5 44 A3
MEX |[EARFE2T/—F 1 5 45 A3
WEX  |EARFE27T/8—F 2 5 44 A3
MEX |[EARFE2T/—F 2 5 45 A3
WEX  |HARE27T/8—F 3 5 45 A3
BEX |[BEEmTH7/N—h 1 3 55 A2
HEX |ESAHATES27/5— 4 3 52 A2
RS X BEEEHMATESE 2 7/5—t 5 3 52 A2
HEX |HEAEHETAETHE7T/<—+t 1 8 50 A3
wmEX BEEHEATHE /= 2 8 52 A3
HEX |HEAEHETAETE7T/<—+t 3 3 51 A2
wmHEX BEEHEATHE T /S— 3 3 52 A2
MEX [8B—TH7/—*h 16 3 50 A2
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MEX |HEEXRAE=TEH7/{—*t 1 3 47 A2
HEKX HBEETRAE=TEH7/¢—+ 2 3 47 A3
MEX |HMEEXRA=TH7/{—*F 3 3 46 A2
BEX |HMEELXRAE=TH7/{—*F 4 3 46 A2
TR X WmEELRAE=TE7/\—+ 5 3 46 A2
MEX |HMEEXRAE=TEH7/{—*t 6 3 47 A2
HEX |[@ESERAE=ZTESE27/—h 1 3 52 A2
HEX BEEABMNT B 7 /= k 1 3 52 A2
TR X WEEBEUTEHT7/SN—F 2 3 52 A2
RS X B=E=TH7/¢—+ 1 3 55 A2
BEX [BE=TE7/\—*F 2 3 55 A2
X BEZE=TEB7/¢—} 3 4 55 A2
BEX |[MEELRE7/—t 1 4 41 A2
BEX |BEELXRE7/—F 2 4 41 A2
HEX REERE=ZTBHT7/\— 1 3 52 A2
BEX |HMEAEHE=TB7/{—+} 2 3 52 A2
TR X WEEHEH=TB7/¢— 3 3 53 A2
HEX REEBEH=TBT7/\—} 4 3 53 A2
TR RESHE=ZTHB7/{\— 5 3 52 A2
HEX |[SEERE=TBEE27/%—F 1 3 53 A2
HEX |HBEEEE=TBEH27/—+h 3 3 53 A2
HEX |HESRE=TEE47/<—h 1 3 55 A2
RS X BEAERE=THE4 T7/\—+ 2 3 55 A2
MEX |2EHETET7/(—F 1 3 55 A2
MEX |BEFHIEOTET/(— 2 3 55 A2
BEX |EEHRETET7/S— 3 3 55 A2
BEX |[gEFsETEHE27/¢—+ 3 3 55 A2
HEX |BEHFEtETBEE27/¢—+ 5 3 55 A2
BwEX BEJLETRT B 7 /89— K 2 5 54 A2
BREX BEJLETRT B 7 /85— k 5 5 51 A2
HEX BEJLETRT B 7 /85— K 6 3 51 A2
BEX |EEILBERTET7/$— b 7 4 51 A2
MEX |HELERTET7/S— 8 3 51 A2
BwEX BEJLETRT B 7 /85— K 9 3 51 A2
WEX BEJLETRT B 7/8— K 10 3 51 A2
RS X MEIERT B 7 /89— b 11 3 53 A2
wHEX WEIETRTE7/8— b 12 3 52 A2
X WEIE N T B 7 /83— b 13 3 51 A2
HEX BEJLETRT B 7 /85— K 14 3 51 A2
WEX EJLETRT B 7/8— k 14 3 55 A2
HEX MEIART B 7 /89— b 15 3 52 A2
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BEX BEJLETRT B 7/8— k 17 3 51 A2
HEKX MEIART B 7 /89— b 18 3 52 A2
BwEX BEJLETRT B 7 /89— K 20 3 51 A2
WEX BEJLETRT B 7/8— k 24 3 53 A2
HEX |[@EBEL=TBEE27/{—F 1 3 55 A2
HEX |[GEBEL=TBE27/I—F 2 3 55 A2
HEX |[SEBEL=TBEE27/{—F 3 3 55 A2
HEX |[SEBEL=TBEF27/—*t 4 3 55 A2
HEX |GEEECL=TEZH27/¢—+t 5 3 55 A2
HEX EXFEI=THT/S—F 1 3 46 A3
BEX |EEMEI=ZTBE7/{—+ 2 3 46 A3
MEX [BEZTBE7/t—*F 1 3 43 A3
RS X JBETZTH7/¢—+t 2 3 43 A3
MEX [BEZTE7/t\—*F 3 3 43 A3
MEX [MBEZTBE7/t—*h 4 3 43 A3
HEX |[#EILEATE7Z/S—h 1 3 52 A2
MEX |HEILEINTE7/¢—+t 2 3 53 A2
RS X MEIE\NTB7/¢— b 3 3 54 A2
MEX |BHETET/—h 1 3 55 A2
TR X BHIETHET/N— b 5 3 55 A2
WEX |BH-TBH7T7/—F 1 3 52 A2
MEX [BH-—TEH7/—*F 2 3 52 A2
RS X REBET—TBE27/¢—+ 1 3 55 A2
HEX |EEBEE—THEHE27/{—F 2 3 55 A2
MEX |MBEEE—TBZE27/¢—+ 3 3 55 A2
TR X HWERE—THBE 2 7/8—F 4 3 55 A2
HEX |HESRAE=TEA®37/<—h 1 3 53 A2
MEX |BRE=TEHE27/¢—F 10 3 55 A2
WMEX | EEEHFT = 21 5 40 A3
MEX |LEEEHFT/—F 22 5 40 A3
MEX |LEBEmHFT/—h 23 5 40 A3
WEX |LEHEHFT/S—F 24 5 40 A3
MEX |LEBEmHFT/ = 25 5 41 A3
BEX |LEBEmHFT/—h 26 5 40 A3
MEX |LEBEHFT/—h 27 5 40 A3
MEX |LEBEmHFT/ = 28 5 40 A3
MEX | EEEFT = 29 5 40 A3
MEX |LEBEHFT/—F 30 5 40 A3
TR X EREHFT = 31 5 41 A3
MEX |LEBEHHFT/—F 32 5 41 A3
MEX |LEBEHFT/ = 33 5 41 A3
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MEX |LEHEHHFT/—F 34 5 41 A3
MEX |LEBEEmHFT/ = 11 5 55 A2
WMEX  |mHEFBT/- 1 5 41 A3
MEX  |mHEFBT/— b 2 5 41 A3
MEX |mEeT/— b 3 5 42 A3
WMEX  |mHEFBT/— 4 5 42 A3
MEX  |EHEFBT/— 5 5 42 A3
BEX |mEe T/ 6 5 42 A3
MEX  |mHEFBT/— 7 5 42 A3
RS X RSP T /= b 9 5 41 A3
WMEX  |EmHEFBT/— 10 5 41 A3
MEX  |EHEFBT/— 16 5 41 A3
MEX |mEeT/— b 17 5 41 A3
MEX  |EHEFBT/— 18 5 41 A3
MEX |mEeT/— b 19 5 41 A3
WMEX  |mHEFBT/— 20 5 41 A3
MEX  |mHEFBT/— 21 5 41 A3
MEX |mEe T/ 22 5 41 A3
WMEX  |EHEFBT/— 23 5 41 A3
MEX  |EHEFBT/— b 24 5 41 A3
MEX |mEeT/— b 25 5 41 A3
MEX  |EHEFBT/— 26 5 41 A3
RS X AP T /= b 27 5 41 A3
WMEX  |mHEFBT/— 28 5 41 A3
MEX  |EHEFBT/— 29 5 41 A3
MEX |mEeT/— b 30 5 41 A3
WMEX  |mHEFBT/— 31 5 41 A3
MEX |mEeT/—h 32 5 45 A3
WMEX  |mHEFBT/— 33 5 44 A3
MEX  |mHEFBT/— 33 5 45 A3
MEX |mEeT/— b 34 5 44 A3
MEX  |mHEFBT/ - 36 5 41 A3
MEX  |EHEFBT/— 37 5 41 A3
BEX |mEeT/— b 38 5 41 A3
MEX  |mHEFBT/ - 39 5 41 A3
RS X RSP T /= b 40 5 41 A3
WMEX  |EmHEFBT/— 41 5 43 A2
MEX  |EHEFBT/— 42 5 41 A3
MEX |mEeT/— b 43 5 41 A3
MEX  |EHEFBT/— 44 5 41 A3
MEX |mEeT/— b 45 5 43 A2
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WMEX  |mHEFBT/— 46 5 43 A3
MEX |mEeT/—h 47 5 43 A3
WMEX  |mHEFBT/- 48 5 43 A3
MEX  |mHEFBT/— b 49 5 43 A3
MEX |mEeT/— b 50 5 54 A2
BEX |[BB&A—TEB7/{—t 11 5 46 A2
BEX |@HA—TEHT7/{—*F 12 5 46 A2
HEX ER_—TEB7/¢—t 1 5 47 B1
TR X WEREEIIE=TBE 7 /¢— bk 1 3 51 A2
RS X REBETI=TBET7/\— 2 3 51 A2
RS WERBEI=THT7/\— 3 3 51 A2
BEX |BFEHR—-—TEHT/{—F 1 3 50 A2
BEX |BEHF—-—TEHT7/{—*F 2 3 50 A2
MEX |BEH-—TEHT7/{—*F 3 3 50 A2
HEX REBET—TBH7/¢—F 1 3 51 A2
RS HREREET—T B 7 /8— b 2 3 53 A2
wmEX ALEFET RN — b 1 3 53 A2
RS X SEFFET 78— b 2 3 54 A2
MEX | BEFEETET/—h 1 3 53 A2
BEX |BEFEETET7/S—h 2 3 53 A2
HEX |[GEEBEUTBEE3 7/<—F 1 3 53 A2
HEX |HESAEETEE3I7/<—h 2 3 53 A2
RS X BEEHEMETESE 3 7/5— b 3 3 53 A2
HEX |[SEAEBEUTBEE3 7/<—F 4 3 53 A2
HEX |HEESREETEE27/5—h 3 3 53 A2
HEX |[GEEEEUTEE27/5—h 4 3 53 A2
HEX |[SEEBEUTBEE2 7/<—F 5 3 53 A2
WEX |BHF-THFE27T/—F 1 3 54 A2
MEX |BH-THHE3IT/—F 1 3 54 A2
MEX |BEHF-THHE3IT/—F 2 3 54 A2
HEX |1 EFELT7/—h 22 11 55 A2
BIX REETEE 2 7/8— b 1 4 52 A2
BIX |RERBETE 2 7/8— k 2 5 52 A2
EBILX FEIETEE 2 7/%— b 3 5 52 A2
RMX  |[FEETE 2 78— F 4 5 52 A2
BIUX  |[REETE 2 78— 5 5 54 A2
BIX  |RERTE 2 78— k 6 4 54 A2
RMX  |[FEETE 2 78— F 7 4 54 A2
BIIX BR-_TB7/¢{—+} 20 5 50 A3
BIL[X ERZTHT7/S— 1 3 51 A2
BILX BR-ZTH7T/¢—t 2 3 46 A3




BRFEE

X4 M4 SR P24 WEEZ > 7
(RRA0)
BIX ERZTET/S—F 3 3 46 A2
BILX RABATE7 /Y= 2 4 55 A2
BIX BIFRRARTATEHT/I— b 1 4 51 A2
BILX EBIHFRABTATH7/8— b 2 4 51 A2
BILX EIMHRABTATH7/8— b 3 4 51 A2
BIX EBIHFRABTATH7/8— b 4 5 51 A2
BILX EIHFRABTATH7/8— b 5 5 51 A3
JBILX EIHRABTAT B 7/8— b 6 9 51 A2
BILX EMMETHET/S— b 1 5 48 A3
BILX RMIETHET/S— b 2 5 48 A2
BIX EMMTE7/S— b 3 5 48 A3
EI[X EMMUTHEEIT7/S—F 4 3 55 A2
BILX RMMUTHEEIT7/S—h 9 3 55 A2
BILX BAERAB=TBE® 2 7/X—+ 1 5 52 A2
BILX BARAB=TBE®H 2 7/X—+ 2 5 52 A2
BIX BRANE=ZTHS 2 7/3— 3 4 53 A2
BILX BERAB=TBE7/\—+ 1 5 43 A3
BILX BAERANE=ZTHT/Y— b 2 5 42 A3
BIX BERAB=TBHY /Y= 3 5 43 A3
BILX BERAB=TB7/\—+ 4 5 44 A3
BILX BAERAE=ZTHY/Y— b 5 5 44 A3
BILX BERAB=THY/Y—F 6 11 45 A2
BILX BARAB=TBEY/{—Fh 7 5 46 A3
BIX BERABE=TBHY /Y= 8 5 46 A3
EBILX BAERAB=TBE7/\—F 9 5 46 A3
BILX BERAE=ZTHT/Y— b 10 8 46 A3
BIX BERAB=THY /Y= 11 5 48 A3
BILX BAERAB=TBY/Y—Fh 12 5 48 A3
BIX BAERABE=TBHY /Y= 13 5 48 A3
BILX BERAB=TBHY/Y—Fh 14 5 50 A3
EBILX NAZTEE27/8—+ 1 5 51 A2
BIX NAZTHESE27/—F 2 5 51 A2
BILX NAZTESE27/—F 4 3 53 A2
BIX RNAZTEE27/8—F 5 5 53 A2
BILX NAZTHSE27/—F 6 5 53 A2
BILX BARABE—TBEH 2 7/5—+ 2 5 53 A2
BIX BARAE—THZ 2 7/3— 3 5 53 A3
EI[X BRABE—TBEHE27/X—+ 4 5 53 A2
BILX SRMUTE7/8— b 2 5 54 A3
BILX EROTE /83— h 3 5 54 A3
BILX SRMUTHE7/8— b 4 5 54 A3
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EBILX ERMUT B 7/8— b 5 5 54 A3
EBILX MH=TB7/{\—+ 23 9 54 A2/A3
BIX FHOETET/SN—+ 1 5 55 A3
BILX EHMETHEY/IX—F 2 5 55 A2
BILX EHOETET/N—F 3 4 55 A2
BIX INAB—TH7/X—=+ 1 3 43 A2
EBILX NABI—TH7/Y—+ 2 3 43 A2
BIX SNAB—TH7/X—+t 3 3 43 A2
BILX INAB—TH7/X—=+ 4 3 43 A2
BILX INAB—TH7/X—+t 5 3 43 A2
BIX INAEI—TH7/Y—+ 6 3 43 A2
EI[X BhEZTH7/X— 1 5 55 A2
EBILX BhBZTH7/S— 2 5 55 A3
BIL[X sBhBZTH7/X—Fh 3 5 53 A2
BILX BhBZTH7/X—Fh 17 5 55 A2
BIX Db BZTH7/X— b 19 4 52 A2
BILX sBhEZTH7/X—F 20 5 52 A2
EBILX NAZTEE4T7/8—F 2 5 54 A2
EBILX NAZTHSE4LT/—F 3 3 54 A2
BILX Tdb—THE7/v—h 1 5 45 A3
EBILX Td—T B 7 /83— k 2 5 45 A3
BILX Tdk—TH7/8—+F 3 5 45 A3
BILX Id—TH7/N—+ 4 5 45 A3
BIX Td—TB7 /83— k 5 5 45 A3
EBILX B LERAKRET /= b 1 5 40 A3
BILX BLIRAKRET /78— b 2 5 40 A3
BIX B 1HFRARMET /3= b 3 5 40 A3
BILX B LRARET /78— b 4 5 43 A3
BIX RANFERT 777X — b 1 5 48 A3
BIL[X RAFEET 7 /8 — b 2 5 48 A3
BILX RANFEIET 77 /83— b 3 5 48 A3
BIX RARFEET 7 /8 — b 4 5 48 A3
BILX RAFEHT 7778 — b 5 5 48 A3
BIX EVIOACN 1 5 40 A3
BIL[X VAT 2 5 40 A3
EBILX BRARMEZE S 7/8— b 1 5 41 A3
BIX RARMEDL 7/78—F 2 5 41 A3
BILX RAME DL 78—+ 3 5 42 A3
BILX RAMEL 7/8—h 4 5 42 A2
BIL[X RAME D 78— 5 5 41 A3
BILX RAEEL 7/8—h 6 5 41 A3
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EBILX RARME D 78—k 7 5 41 A3
RBILX RAMES 7/¢— b 7 5 42 A3
RILX RAMES 7/¢—+ 8 5 42 A2
BILX RARME D 78—k 9 5 42 A2
BILX RAME S 7/8— b 10 5 42 A2
EBILX RARME D 78—k 11 5 42 A2
EBILX RAMIE S 7/8— b 12 5 41 A2
RILX RAMES 7/¢—+ 12 5 42 A2
BILX RARME D 78—k 13 5 42 A2
BILX RAME S 7/8—+ 15 5 42 A2
BILX RAMES 7/8—+ 16 5 42 A2
BILX RARRZE D 78—k 17 5 42 A2
BILX RAME S 7/8— b 18 5 42 A2
BILX RARME D 78—k 19 5 42 A2
RILX RAME S 7/8— b 20 5 42 A2
EBILX RARIEE 5 7/8— b 21 5 42 A2
BILX RARRMZE D 78—k 22 5 42 A2
EBIX =HE 37 /85— b 1 5 44 A3
EBILX BIE 3 7/ N— k 2 5 44 A3
EBILX B 3 7/ N— k 3 5 44 A3
EBILX =L 37 /8— 4 5 44 A3
BILX BIES 3 7/ N— k 5 5 44 A3
RILX =E 3 T7/8— b 6 5 44 A3
EBILX =i 3 78— b 7 5 44 A3
EBILX BiEE 3 7/ 8=k 8 5 44 A3
RBILX =E 3 T7/8— b 9 5 44 A3
EBILX BiE 3 7/ N— k 10 5 44 A3
EBILX =EE 37 /8— 11 5 44 A3
RILX BRAME 4 7/8—F 1 5 41 A3
BILX RARMZE 4 78—k 2 5 41 A3
EBILX RAMBE 4 7/8— b 3 5 41 A3
EBILX RARME 4 78—k 4 5 41 A3
EBILX RAREZE 4 T7/8— F 6 5 41 A3
EBILX RAME 4 T /= 7 5 41 A3
BILX RARMZE 4 78—k 8 5 41 A3
EBILX RAMBE 4 7/8— b 9 5 41 A3
EBILX RAME 4 T7/—+ 10 ) 41 A3
BILX RARMZE 4 78—k 11 5 41 A3
EBILX RAMBE 4 7/8— b 12 5 42 A2
BILX RARME 4 78—k 13 5 42 A2
EBILX RAMBE 4 7/8— b 14 5 42 A2
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RBIX  |RARE L T/8— 15 5 42 A2
RBIX  |RARE 4 T7/8— b 16 5 42 A3
BIX |MToEETE7/<—h 2 5 43 A2
BRI |[MoEETET7/<—h 10 5 43 A3
BIX |MTOEETE7/<—h 11 5 43 A3
BIX |MToEETET7/<—h 12 5 43 A3
RIK |TOBEETBE7/<—h 13 5 43 A3
RIRX  |TOFEETBE7/¢—h 14 5 43 A3
BIX |ToEETE7/<—h 15 5 44 A2
RBIX |MTOEETE7/<—h 16 5 43 A2
RBIX (AR ABMIETE 7/~ b 1 5 43 A2
RBIX  |ARAEETE7/$— b 2 5 43 A2
RBIX  |FEEAMIETE7/$— bk 3 5 43 A2
RUIX  |AFRAKEETE7/¢—t 4 5 43 A2
RBIX  |FEREAMIETE7/<— bk 5 5 43 A2
RIX  |FERAMETE 7/~ b 6 5 43 A3
BIX |ARAEETE7/$— b 7 5 42 A2
RBIRX  |FEREAMIETE7/<— bk 8 5 43 A2
RIX  |ARAMIETE7/<— b 9 5 43 A2
RBIX  |FERERAMETE7/$— b 10 5 43 A2
RIX  |BERAMIETE 7/~ b 13 5 43 A2
BUIX  |AFRAEETE7/$— 15 5 43 A3
RBIX  |FEEAMIETE7/<— bk 16 12 43 A3
RBIX  |HE-TE7/$—*t 8 8 43 A3
RBIX  |FEFHEL T/ 1 4 43 A3
RIX  |BEFHEL T/ 2 4 43 A3
RBIX  |BEFHEL T/ 3 5 43 A3
RBIRX  |FEHHAEZTE7/¢— 4 5 44 A3
RIR  |FEHFHABTZTET7/¢— 5 5 44 A3
BRIKR |FEHHAAE_TBET7/<— 6 5 45 A3
RBIRX  |FEHFHABZTE7/¢— 7 5 46 A3
RIX  |BEHFHAEZTE 7/~ 8 5 45 A3
RBIKX |FEHFHABTZTET7/{— 9 3 46 A2
RBIR  |FEHFHABTZTE7/¢— 10 3 46 A2
BIX | EBEE3T7/S—F 11 5 43 A2
RBIX | EBEEIT/S—F 12 5 43 A2
RBIKX | EBEFE3IT7/S—F 15 8 43 A3
BiIX  [Ide7s8— b 1 3 44 A3
BUX  [SIde7/s— b 2 3 44 A3
BIX  [Tde7/8— b 3 5 45 A3
BUX  [SIde7ss— b 4 5 45 A3




BRFEE

X% Sip:ik2 SR P& MEEZ > 7
(RBFD)
RIIX ST 78— b 5 5 45 A3
BIIX BIERT/X— b 6 5 43 A2
RILX BERT/8— b 7 5 43 A2
RIX BIERT /83— b 8 5 43 A2
BIIX BRERT /83— b 9 5 43 A2
RIIX BRERT/N— b 10 5 43 A3
BIIX BIERT/X— b 11 5 43 A2
BILX BIERT /X— k 12 8 43 A3
RIX AERAE_ZTBEE2 7/8—+ 1 5 43 A3
I ARAMZTEE 2 7/¢—+ 2 5 44 A3
RIIX ARAMZTEE 2 7/¢—+ 3 5 44 A3
RILX ARAMZTEE 2 7/¢—+ 4 5 44 A3
BIIX AERAE_ZTBEZE 2 7/8—+ 5 5 46 A3
JRILX ARAE_ZTBEE2 7/8—+ 6 5 46 A3
EBILX BARAEI_-ZTHE 2 7/8—+ 7 5 46 A2
RIIX FERARC TE%Z AT 8 4 46 A3
BIL[X JEEEREE 2 7 /85— b 1 5 44 A2
BIIX bEERE 2 78—k 2 5 44 A2
RIIX bEERE 2 78— b 3 5 44 A2
BIX JbEERE 2 7/X— b 4 5 44 A2
BIIX bEERE 2 78—k 5 5 44 A2
JRILX ﬁ*,liﬁw =k 1 3 44 A3
RBIX  |[FEETT /= b 2 3 44 A3
BIIX  |RERETT/S— b 3 3 44 A3
RBIIX  |[FRERETT /- b 4 3 44 A3
RIX  |REET 78— b 5 3 44 A3
RIIX R HRAEMT BT /85— b 1 5 44 A3
EBILX B HFRABIET B 7 /85— b 2 5 44 A3
RIIX I FHRRAENT B 7 /8- b 3 5 45 A3
BIL[X EILHRRABTIET B 7/8— b 4 5 45 A3
BIIX I HRAEMT B 7 /8- b 5 14 46 A2
RIIX FAETTHT 77 /8= b 1 6 44 A3
BIIX FAETET 7 /83— k 2 14 44 A3
BIIX FAETET 7 /8= 3 14 44 A2
RIX FAETTHI 77 /8= b 4 14 44 A2
EBILX RABHET77/X— b 1 5 44 A2
RIIX RABET T /38— b 4 5 44 A2
BiIX  |RABHETT /=t 5 5 44 A2
BILX =BT 7 /X— b 6 5 44 A2
JRILX BB 77 /83— k 7 5 44 A3
EBILX RABHET 77 /X — b 8 8 46 A2
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EBILX = A 9 5 46 A2
RBILX RABET T /8= b 9 5 47 A2
RILX RBET T /%= b 10 5 47 A2
BIL[X =1 I A 12 5 47 A2
EBILX RBHET 77 /73— b 13 5 47 A2
EBILX =OBHT 77 /N — b 14 5 46 A2
RBIIX RBET T /8= b 14 5 47 A2
EBILX A NI DACE 1 5 44 A2
BILX AN AT 2 5 44 A2
BILX AN N AT 3 8 44 A3
EBILX A NI DACE 4 8 44 A3
BILX TV ARET TR — b 5 5 44 A2
EBILX AN IAGSE 6 5 44 A2
BILX AN AT 7 5 44 A2
EBILX Y ARET 78— b 8 5 44 A2
EBILX AN AT 10 ) 44 A3
BILX TV ARET 7R — b 11 5 44 A2
EBILX A NI DACEE 12 5 44 A2
EBILX A I AN 13 5 44 A2
EBILX TV ARET 7R — b 14 5 44 A2
EBILX AN IACSE 15 5 44 A2
BILX ANV N OACSH 16 5 44 A2
EBILX A NI DACE 17 5 44 A2
EBILX TNV ARET 7R — b 18 8 45 A2
RILX EBIFEFE—-THT/S—F 1 5 44 A3
JBILX RIFH-—THT/I—h 2 5 44 A3
EBILX BIFEHF—THT7/N— 3 5 44 A3
EBIX TEMHEE 3 7/8— b 6 5 45 A3
BIX TEMEE 3 78—+ 8 5 44 A2
BILX TEMEE 3 7/8— b 8 5 45 A2
BILX TEMHEE 3 7/8— b 9 5 45 A2
EBILX LSS 3 77/%— b 10 5 44 A2
BILX TEMHEE 3 7/8— b 11 5 44 A2
EBIX TEMHEE 3 7/8— b 12 5 44 A2
BIL[X LMHEE 3 7/%— b 13 5 44 A2
EIX TEMHEE 3 7/8— b 14 5 44 A2
EBILX RBIAFNUT BT /83— k 1 5 46 A3
RILX EIFNETET/S— b 2 5 45 A3
BILX EBAFNETET /= F 3 5 45 A3
RILX RIAFNETET /8= k 4 5 48 A3
RBIIX BERTHT/¢—+ 3 5 45 A2
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EBILX BRERATET/S—F 4 5 45 A3
RBILX BEERATHT/S—h 5 5 45 A2
EBILX BERATHT/S—Ft 11 8 46 A2
BILX BERATHT/S—F 12 8 46 A2
RBILX BEATHT/S—F 13 8 46 A2
EBILX BERARTBET/S—F 14 8 46 A2
EBILX FERARZTET/N—F 1 12 45 A3
BIX FEERARZTET/N— b 2 14 45 A3
BIIX EBIFEFE=THT/\—F 1 5 46 A3
RBILX BIFEFE=THT/\—F 2 5 46 A3
BILX EBIFEFE=THY/YX—F 3 5 46 A3
BIIX EBIFEFE=THT/{—F} 4 5 46 A3
RBILX EBIFEFE=THY/YX—F 5 5 46 A3
RIIX EBIFEFE=THI/\—F 18-2 5 46 A3
EBILX RBIFHE=THI/X—} 18-3 5 46 A3
EBILX BIAFEFE=TH7/\—} 18-4 4 46 A3
RIIX NAHETT /78— b 1 5 46 A3
RBILX NAHETT /78— b 2 5 46 A3
EBILX JNABET /= 3 5 46 A3
EBILX JNABET /= | 4 5 46 A3
EBILX KEH—TB7/8—= | 1 4 46 A2
BIL[X KABH—TH7/¢—F 3 5 46 A2
EBIX AKEH—TH7/X—+ 3 5 47 A2
BIX BERABE—-THB7/Y—F 1 8 46 A3
BIX BERAE—TB7/\— 2 5 46 A3
EBILX LMEE 4 7/%3— b 1 5 46 A2
BILX EMEE 4 7/8— b 2 5 46 A2
EBILX EMEE 4 7/%— b 3 5 46 A2
BIX TEMEE 4 7/%— b 4 5 46 A2
BILX TEMZE 4 7/8— b 5 5 46 A2
BILX TEMEE 4 7/%— b 6 5 46 A2
EBIX TEMZE 4 7/8— b 7 5 46 A2
BILX TEMHEE 4 7/8— b 8 5 46 A2
EBILX LMEE 4 78— b 9 5 46 A2
BIL[X LMz 4 7/8— k 10 11 46 A2
EBILX LMEE 4 7/%3— b 11 11 46 A2
EBILX TLMEE 4 7/8— K 12 ) 46 A2
EI[X TEMHEE 4 73— b 13 5 46 A2
EBILX LM 4 7 /83— b 14 5 46 A2
BIL[X LMz 4 78—k 18 5 46 A2
BILX TEMEE 4 7/%— b 19 5 46 A2
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RIX  |TEMEEE4 78—k 20 5 46 A2
RBIIX  |TEMEEE4 78—k 21 5 46 A2
RBIRX  |TEMEEE4 78— b 22 5 46 A2
RIX  |fEMZE 5 78— b 1 4 46 A2
RIIX  |TEMEEES 78—k 2 4 46 A2
RIX  |fEMEEED T/8— b 3 4 46 A2
RBIIX  |fEMEEES 78—k 4 3 46 A2
RBIIX  |fEMEEES 78—k 5 3 46 A2
RIX  |fEMZE 5 78— b 6 3 46 A2
RBIX  |BEFHATET/—h 1 5 48 A2
RIX  |BEHFHATET/—h 1 5 49 A2
RIX  |BEFHATET/<—F 2 5 48 A3
RBIRX  |BEFHATBET7/—h 3 5 48 A3
RUIX  |BEFHATET/<—F 4 4 48 A3
RIX  |BEFHATET/—h 5 4 48 A3
RIX  |BEHFHATET/<—h 6 4 48 A3
RUIX  |BEFHATET/<—F 7 5 48 A3
RBIX  |EAETT/S— b 1 5 51 A3
RIK  |EABTT7/8—h 2 5 48 A3
RBIKX  |[EAETT/S—k 3 5 48 A3
RIX | EAETT/S— b 4 4 48 A3
RBIK  |[&AET/8—k 5 5 48 A3
RBIX  |EAETT/S— b 6 5 48 A3
RIKX  |&EAETT7/8—k 7 5 48 A3
RBIKX  |EABTT/S—h 8 5 48 A3
RBIX  |EAETT/S— b 9 5 48 A3
RIKX  |&EABETT/S—k 10 5 48 A3
RBIX  |[EAETT/S—k 14 8 48 A2
RBIKX  |EAETT/ 8=k 15 5 48 A3
RBIK  |[&AET/8—k 16 5 48 A3
RIX | EAET/S— b 17 5 48 A3
RIKX  |&EABTT7/8—k 18 8 48 A2
RBIRX  |TEMEEE6 78—k 1 3 48 A2
RBIIRX  |fEMEEE6 78—k 2 3 48 A2
RBIX  |fEMEE 6 78— b 3 3 48 A2
RBIIX  |TEMEEE6 78—k 4 3 48 A2
BIX |MTOBETBEE27/5—F 1 5 50 A3
BiIX |MOEETEE27/8—+ 2 4 50 A2
RBIX |fTOBETBEE27/5—F 3 4 50 A2
BRI |[RAZTBE7/S—F 17 4 51 A2
BYX | EH=THE2 7/<— 5 3 51 A2




BREE

M4 SR P24 A
(RRF)

EH=THE27/X—} 7 3 51 A2
EH=TEH7/Y—F 1 4 51 A2
FH=ZTBE7/{—} 2 5 51 A2
FINNZTE7/%—=F 2 5 51 A2
BIEmAT B 7 /Y= 4 3 51 A2
BIEmAT B 7/8— 5 3 51 A2
E{EEAT B 7/8N—+h 17 3 54 A2
BEEMATBE7/¢—h 20 3 51 A2
EEMAT B 7/¢— b 22 3 51 A2
EHATET7/S—F 46 8 52 A3
FNAR=ZTB7/%—F 6 10 52 A2
RMMTHEE27/8—+ 5 4 53 A2
RMWMTEE2 7/8—+ 7 3 53 A2
EMUTHEE27/¢—+ 8 4 53 A2
BIMMEZTHT7/N— 3 14 53 A2
BIMEZTHT7/N— 4 14 53 A2
EBIMEZTE7/{N—F 7 11 53 A2
RARRE—TEB7/¢—+ 1 4 53 A2
EERARKE—THB7/¢—+ 2 5 54 A3
RERKRE—TH7/¢—+ 3 5 53 A2
ERARE—-TEB7/¢—+ 4 7 54 A3
BIARET T /X— k 1 5 55 A3
BILARHE]T /3= k 2 11 54 A2
BIARET T /X— k 3 9 54 A2
BILARH] T /73— b 4 9 54 A2
EH=ZTEE2T7/X—F 1 8 53 A3
BH=ZTEE2T7/X—} 2 5 53 A3
BEH=ZTEE2T7/X—F}F 3 5 53 A2
EH=ZTBEE2T7/X—F}F 4 5 53 A2
E{EMATBEE27/8—F 11 3 55 A2

EN—THEBE3IT7/X—F 2 3 55 A2

LEXN—TBE27/X—}F 1 3 55 A2
BE_TEHE27/<—F} 1 4 52 A2
FER=ZTB7/%—} 3 4 50 A2
FER=THB7/¢—F 4 5 50 A3
FER=TEB7/%—} 5 5 50 A3
FR=ZTB7/%—} 6 8 51 A3
FER=THB7/¢—F 7 11 51 A2
EFR=TB7/%—} 8 5 51 A2
BEENTHT/S—F 12 5 50 A3
WE_THE3IT7/{—*F 1 5 54 A2
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b4 SR P& A4
(RB#D)
B8E—TEBE7/t\—+ 1 11 50 A2
&g8F5—TH7/¢—+ 2 5 52 A2
&8B—TEB7/t—+ 3 5 52 A2
BFE-TH7/\—*F 4 5 54 A2
B8E—THT7/\—*h 5 4 54 A2
EFET /= 3 3 55 A2
LXY=TEB7/¢—+} 6 5 50 A3
EX=THT/t—*F 7 5 50 A2
LXY=TB7/¢—+} 8 5 50 A3
BEMATHT /= k 2 4 53 A2
REeHTATHT/N—k 3 4 53 A2
BEhFE—TEB7/X—+ 1 11 52 A2/A3
BEHFE—TB7/¢— b 2 3 55 A2
LEXYmMTE7 /8=t 22 5 48 A2
BF—THH27T7/8—F 1 5 54 A2
%E—TE%B AT 1 4 55 A2
BHE_THE37/¢—+ 1 4 55 A2
BE_THE3IT7/N—*h 2 4 55 A2
LEXATHT /= h 1 5 52 A2
HEHAT T /8 — k 1 5 41 A3
HEHAT 7 /8 — k 2 5 41 A3
HEHAT 7 /8= k 3 5 41 A2
HEHET 7 /8 — b 4 5 41 A2
HEHAT 7 /8= b 5 5 42 A3
HEHAT 7 /8 — b 6 5 42 A3
HEHAT 7 /8 — k 7 5 42 A3
HEHAT 7 /8= k 8 5 41 A3
S —TB7/¢—t 1 6 42 A3
S—TB7 /=t 2 6 42 A3
B —TB7/¢—t 3 5 42 A3
S—TH7 /=t 4 6 42 A3
mHFINE=TB7/{—F 7 4 51 A3
AFNE=ZTBT7/8— b 8 4 51 A2
BE-THT/\—*h 17 5 43 A3
HEZTHT7/S\—*F 1 5 43 A3
BE_TE7/%—+t 2 5 43 A3
s _TBE7/\—+} 1 5 44 A3
AeEE_TET7/{\— 2 5 44 A3
AeEBE_TH7/\—+ 3 5 44 A3
WA—TB7/¢— 1 3 46 A2
HE—TH7 /=t 6 3 46 A2
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(RBAD)

wmE—THB7/¢—F 7 3 46 A2
BEMNTEE27/{—+ 13 4 50 A2
BHINE=TEB7/\—F 1 5 50 A3

LX—TH7/%—+F 1 5 51 A3
WE_THE27/\—F 1 3 51 A2
BN THET7/S— b 1 5 52 A3
BUIATHT7/%— b 2 5 52 A2
mEHIhNE—THB7 /Y=t 1 14 52 A3
mEFIhNE—TH7/X—Fh 2 14 52 A3
INE=ZTB7 /85— k 1 9 53 A2
T/ NEZTE7/N— 3 5 54 A3/A2
FRATET /8= 1 5 55 A2
EAkTT—THB7/8{— 1 5 55 A3
mEARKIT—TB7 /83— h 2 5 55 A3
FKITT—T B 7 /83— F 3 5 55 A2
FAKTAT B 7 /8= 2 5 55 A2
FKITTATHEH7/Y— b 3 5 55 A2
FKTTAT B 7/X— b 4 3 55 A2
FEKITTAT B 7/8— b 5 3 55 A2
FkTTAT B 7 /8= b 6 5 55 A2
FKITTAT B 7/X— b 7 5 55 A2
EFR=TH%27/X—F 1 4 55 A2
FNERTET7 /8= 12 3 53 A2
B/NENTB7/8— k 19 3 53 A2
FOImIEE 2 7/8— b 11 4 55 A2
FOim I8 2 7 /83— k 12 4 55 A2
Pl I8 2 7/8— b 13 5 55 A3
FOifm I8 2 7 /83— b 14 4 55 A2
P, LT B 77/ 8— k 1 4 53 A2
hEm—TET7/S— 5 5 54 A2
fE—T B 7 /3—+ 11 5 44 A3
frfE—THE7/%— b 12 5 44 A3
fRYE— TX—k 13 5 45 A3
MIE—TEB7/¢—F 14 8 45 A3
fiefg—T B 7 /%— b 15 5 45 A3
ME—TEB7/¢—h 16 5 45 A3
T g7 — b 3 5 41 Bl
T 7 /8= k 4 5 41 A3
TR T /= b 5 5 40 B1
T 7 /8= k 6 5 40 B1
FH-THT7/Y—h 5 10 43 A3
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M4 EEL (@) 74
EH—-—TH7/X—+ 12 43 A3
FH-THEHT/<— k 44 A3
FEH—-THT/¢—F 44 A3
FTH—-THT/— b 12 43 A3
EH—-THT7/N— 12 43 A3
EH-—THV/X—+ 12 43 A3
FEH—TH7/X—+ 10 43 A3
EH=TE7/X—*F 2 10 52 A2
IFRJNATHET/N— b 1 4 42 A3
IFRJNATH7/X—+ 2 5 42 A3
TIRINATE7/8—h 3 5 44 A3

TIFRMNAETET7/¢—+ 4 12 44 A3
IFRNARR=TH7/\—Fh 1 5 43 A3
TIRNPAR=ZTHT/\—} 2 5 43 A3
IFRNAR=TH7/\—Fh 3 5 43 A3
TIRNPRR=ZTHT/\—} 4 5 43 A3
F/NEMT B 7 /83— 5 5 43 A3
IRNAR—THT/S—h 1 5 44 A3
IR R—THT /= 2 5 44 A3
IR R—THEHT/{—h 3 5 44 A3
TIFRNARR—THET/¢—k 4 5 44 A3
TIR)NPAR—THT /= 5 5 44 A3
TR RZTHT/S— b 1 5 44 A3
TIRNPRRIZTHT /= F 2 5 44 A3
IR)NFRZTHET/S— b 3 5 44 A3
FEHIUTBET/I—F 1 4 45 A3
EHETHY/X—+ 2 4 46 A3
FEHELTBET /= 3 5 46 A3
FHIMUTHE2 7/8—+ 1 5 45 A3
EHETEE2 7/8—F 2 5 45 A3
IR T/ <— k 1 5 45 A3
FfRYE 7 /¥ — b 2 5 45 A3
mNEZTH7/X\—F} 12 5 50 A3
TIRIVNBETZT B /8=t 1 4 46 A3
TIFRINNEBEIZTB7/8— 2 5 46 A3
IFINNSEIZT B 7 /38— 3 5 46 A3
IR)IINEEIZTH7/¢— b 4 5 45 A3
IFRIVNEEIZT B 7 /8=t 4 5 46 A3
IRNNSEIZTE7/¢— b 5 5 47 A3
IR)IIVNEETZTH7/¢—h 6 5 47 A3
TIFRINNSEIZT B 7 /83—t 7 5 46 A3
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(RRF)

IR |[EHETEE4L T7/8—F 1 12 46 A3
IR | EHETEEL 7/8—F 36 3 48 A2
TRINX (AN ZTBE 78—+ 1 5 48 A3
TIRINX (AN ZTHE7/¢—+ 2 5 48 A3
TR [FHETEE 3 7/8—F 12 4 49 A3/A2
IR PIFIN=TEB7/8=+ 1 4 50 A2
IFEIINX IFRIN=TH7/x—F 2 4 50 A2
IR |FEHEETT /8= F 10 49 A3
IR |BEIAEZTBE27/8—F 1 3 51 A2
IR |[EhaE=TBE27/8—F 2 3 51 A2
IR |EhE=TEE27/5—F 7 3 51 A2
AIRNX  |FEHETE 2 78— F 1 12 50 A2
IR |[FHATET7/I=F 23 12 48 A3
TR [EHETEE2 7/8—F 14 4 48 A3
IR |EHETEE27/8—F 15 4 46 A2
IFINX [ A—'lT7/8— b 1 3 52 A2
TR [ A—elEr7/8— b 2 3 52 A2
TR |B#HEZTE /8= 1 12 53 A2
TIFRNX |BHFHEZTE7/S—k 2 12 53 A3
IR |[B#HEIZTE /= 3 12 53 A2
TR |E#HEZTE7 /= 4 10 55 A2/A3
TR [N 77 78— b 1 14 55 A2

TR RN T 78— b 2 14 55 A2
ANEFMH  |\EFRFERT T /N— 1 10 45 A3
ANEFH  |\NEFKRMEETT7/8— b 2 5 45 A3
NEFH [N EFRAHETT/I— F 4 5 45 A3
ANEFH  |\NEFARMEETT /8= | 5 5 45 A2
AEFH  |NEFRMEETT/S— | 6 5 45 A2
NEFH  |[NA\EFARMEETT7/SN— b 7 5 45 A3
ANEFH  |\NEFRMEETT /8= | 8 5 45 A2
NEFH [N EFRAHETT/I— F 9 5 45 A2
NEFH  |N\NEFAIETT/N—F 2 3 47 A3
ANEFH |NEFBEARET/I—F 5 5 46 A3
ANEFH |[NEFEART/N—F 6 5 46 A3
ANEFH  |NEFEAET/S—F 7 4 46 A2
AEFH |[NEFESERT7/N—F 1 7 46 A2
ANEFH |NEFEERTT/S— | 3 7 46 A2
NEFH |ZEZ1—27VBEEMM 16-1 5 48 A3
ANEFH ZE=1—x7vEBSHM 16-2 5 48 A2
NEFH |ZEZ2—27VEEFM 16-3 5 48 A2
ANEFH SEZ1—X7VEEM 16-4 5 48 A2
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(RBFD)
NEFH |ZEZ21—427vBEEMHM 16-5 5 48 A3
NEFH |[BEZ2—27 VAR 18-1 5 48 A2
NEFFH |ZE=21—2Y7 LA 18-2 5 48 A2
NEFH |BEZ2—27 VA 18-3 5 48 A2
NEFH |ZEZ2—27 AR EH 18-4 5 48 A2
NEFH |[BEZ2—R7 VA 18-5 5 48 A2
NEFH |BEZ2—27 VAR 18-6 5 48 A2
NEFH  |ZEZ2—27 DA EH 5-1 5 51 A2
NEFH  |ZBEZ1—27 VDA 5-2 5 51 A2
NEFH |ZBE=Z2—27 0 aEH 5-3 5 51 A2
NEFH |ZEZ 21— 7D 9-1 5 55 A2
NEFH |[BEZ2—27 VA 9-2 5 55 A2
NEFH |ZEZ 21— 7 DA EH 9-3 5 55 A2
NEFH |REAT/S—F 7l 3 51 A2
NEFH | KMBEETE7/¢—+ 1 5 51 A2
NEFH [ KMOBEETE7/— b 2 5 51 A2
NEFH |[KOBEETE7/¢—+t 3 5 52 A2
NEFH | NEFEEEE2 7/8— 1 5 55 A2
i)l PRET—T B 7 /3— k 1 5 53 A2
i)l FIXRET—TH7/Y— b 2 5 54 A2
SN |SIERETT B 78— b 22 4 55 A2
S® o |SNERZTEE 2 7/8—+ 1 3 47 A2
vl )RR 7778 — b 20 5 44 A2
Izl I)NFRAFR T /8= b 23 5 44 A2
Izl I)IEEIZTET7 /3= F 1 5 46 A3
SN |SERZTE7/¢— b 2 5 46 A3
SMIH | SNERZT B 7/ 3 5 46 A3
Al I)IERIZTE /8= 4 3 46 A2
i)l S)INERTZTHE7 /8= F 5 3 46 A3
Izl BEI=TH7/x\—*F 10 10 46 A3
sIm |SNEEREATE /89— k 52 5 51 A3
) VIIELERERTHE/S— 53 5 51 A3
Al A)IEEREIRT B 7/8— b 54 5 51 A2
i)l U)IEERERT B 7/8— b 55 5 51 A2
)T VBB EREIRTET7/8— b 56 5 51 A2
)l AIEEREIRT B 7/8— b 57 5 51 A3
Izl FIIEERERTHET /85— b 58 5 51 A2
Izl I)IERET R T B 7 /83— b 1 4 52 A2
S |3ZERETRT B 7 /98— b 2 4 52 A2
i)l AZ)IEBETNT B 7/8— K 3 3 53 A2
)l )| EEIEET N T B 7 /83— b 1 3 52 A2
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ST S EEISRTRT B 7/8— b 2 3 52 A2
) SN SeBETRT B 7 /83— b 3 3 52 A2
il A7) EEIFET N T B 7 /83— b 4 3 53 A2
valls S EEISRTRT B 7 /89— b~ 5 3 53 A2
HEET |[SHEFIHEMTEE 3 7/8—+ 18 3 55 A2
REFT ([FEFIEEImTESE 3 7/8—F 20 3 55 A2
EVELBF HEHEFIHETESE 2 7/8—F 24 3 52 A2
HE ™ HEHEFIEHETESE 2 7/8—F 25 3 52 A2
HEFT [FEEFEHETESE3I 7/8—F 26 3 55 A2
HEEm (AT e/ S —F 1 3 52 A2
HEEF® (BT E7/ Y=+ 2 3 52 A2
HEEH [ERTHT7/S—F 1 3 53 A2
HEEH [ERTHT7/S—F 2 3 53 A2
HEEHT [EATHET7/I—F 3 3 55 A2
REEgm |[BATHE7/I—*h 4 3 55 A2
EE BT BATHB7/X—F 6 3 55 A2
HEET [EATE7/S—F 7 3 55 A2
HEHMm [AAR=ZTBE7/{—*+ 2 5 43 A3
HEEHm [AAR=TE7/X—+F 3 5 43 A3
HEEHm [AAR=TEBE7/\—*+F 4 5 44 A3
HEZm |[AAR=ZTE7T/S—+ 5 5 44 A3
HEEHm [AAR=TE7/\—+F 6 5 44 A3
HREET  [REIT=TBE7/S—*t 5 3 49 A3
HEEMm [EEE=TB7/{—*| 13 4 49 A3
HEHT |[FEFIEHATET /= 21 3 48 A2
HEEHT [FEFHEATE7/N—F 23 3 48 A2
HEEm |FEFUEmETET7/S—+h 16 3 51 A2
HEEH |HFEFUEmTE /8- b 17 3 51 A2
EEEF iR_TE /X— b 1 3 51 A2
HE ™ —TH7/—F 2 3 51 A2
EELEF _TE /N—k 3 3 51 A2
HEEm [EZTBE7/\—*F 4 3 51 A2
—Em TEZETBEE2T7/8—F 1 5 52 A2
—JE™ TEZEELTBEE27/8—F 2 4 52 A3
= TEZEETBEE2T7/8—F 3 4 54 A2
—fEH —ERRFT /= 1 3 52 A2
= TEZENRTBT7 /= 1 4 48 A2
=Em TREENTH7/X—F 2 4 46 A3
—Em 2T B 7 /8= b 15 3 50 A2
—JEH Z2LETHE /= b 18 3 50 A2
—EH 2T B 7 /8= b 25 3 50 A2
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ZER  |[HOE=TEHT7/\—*F 37 3 52 A2
=E® F#EEETHEE2 7/8—+ 1 3 49 A2
—E® FEEETEE27/8— 2 3 49 A2
—JE® EEBEETEE2 7/~ + 3 3 49 A2
—E® FEEETHEE27/8— 4 3 51 A2
=EH FEEETEE27/¢—+ 5 3 51 A2
=E® F#EEETHEE2 7/8—+ 6 3 50 A2
—EH FEEETHEE27/8— 14 3 52 A2
=& LEZENRTHE7/S— 19 4 45 A3
=& EEBERTET7/8—+ 20 4 45 A3
=EH EEEATHESE2 7/~ 1 3 53 A2
=M FEEATEE 2 7/8— 2 3 53 A2
—E® FEEATEE27/8—+ 3 3 53 A2
=Em EEBEATEE2 7/8—+ 4 3 54 A2
=E® EE#EEATHEE2 7/8—+ 5 3 54 A2
—JEm FEZEATHEE27/8—F 6 3 54 A2
=Em FEEATEE27/8— 7 3 55 A2
—E® FEEATEE27/8— 8 3 55 A2
=EH EEEATEE2 7/8—+ 9 3 55 A2
=E® F#EEATEE2 7/8—+ 10 3 55 A2
=EH FEEANTEE2 7/8— 11 3 55 A2
=Em |TEEETET7/I—*t 1 5 45 A3
—Em  |TEEETET7/—+h 2 5 45 A3
=ER  |[TEEETET7/I—F 3 5 45 A3
=Em TEZETH7 /Y= 4 5 45 A3
=EH ZEXRUTB7/8— b 25 3 53 A2
=ER  |[TEE-TET7/—F 21 3 48 A2
=JEm “EXRZTET/S— b 26 4 45 A3
=M “EXRZTET7 /8=t 27 3 46 A2
=Em EEEETHT /= b 3 3 46 A2
—E® EEEETHT7/N—h 2 3 47 A2
=ER  |[TEEATET/I—F 1 5 47 A3
=Em TL%‘jLTE TN— k 2 5 47 A3
—E® BEALTHT /= b 3 5 46 A3
=Em #@@ETE AN 10 3 47 A2
=Em  |HOBEATET7/S—F 11 3 47 A2
=EH RREMMTEE2 7/8— b 1 3 48 A2
=E® FRREMTBE 2 7/8— b 2 7 48 A3
—E® RREMMTEE2 7/8— b 3 7 48 A3
=Em FRREMTEE 2 7/8— b 5 3 48 A2
=E® FREMTEE 1 T7/8— b 1 5 48 A3
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“fEHm |[PRETEE17/5—+ 2 8 49 A3
=EHR |BsT— b 1 3 49 A2
=EHw (BB TS— b 2 3 49 A2
= 1 AT 3 3 49 A2
—fEHm | EEEATET7/S—h 1 3 51 A2
—JEmh LL%‘jLTE 7 /83— b 2 3 51 A2
=fEm BEEANTBET /85— k 3 3 51 A2
S [AREETE 7/ k 1 5 46 A3
Efm [Tt TBE7/<— b 2 5 46 A3
Eim [Nt TE7/¢— b 3 5 46 A3
Efm [Tt TBE7/¢— b 4 5 46 A3
Ehm [Tt TBE7/<— b 5 5 46 A3
S [AREETE 7/ k 6 5 46 A3
Efm [Tt TBE7/<— b 7 5 46 A3
s ARt TE 7/ k 8 5 46 A3
Eim [[MIEETE7/¢— b 9 5 46 A3
e |FPEFE—TE7/— 1 7 46 A3
il FEREFETZTHE 7 /8= b 1 5 49 A3
BT |FREFR-TESE2 78— b 2 5 49 A2
il FEFRARETIY T B 7/8— b 1 4 52 A2
fFm ERE=TBE /b 1 3 54 A2
i | EREZTBE T/ b 2 3 54 A2
fFhm REEZTBE7/<—h 3 3 54 A2
FFHR T AEEIZTE7/8— bk 4 3 55 A2
il FHBERETZTHET/¢—k 1 4 55 A2
fFhm |[FRBREEZTE7/S— 2 3 55 A2
KR [FREREIZTE 7/¢—k 3 3 55 A2
il BRI ZTH 7/¢—k 4 3 55 A2
fFhm |FRBREEZTE7/S— 5 3 55 A2
fT R FHEBEREIZTHET/¢—k 6 3 55 A2
fFhm |FRBERZTE7/S— 7 3 55 A2
il JERFFEIZTET/S— b 1 4 55 A2
KR FEFRRET—T B 7 /85— 1 3 52 A2
fFepm |[fFhRET—T B 78— b 2 3 52 A2
KR FERRET—T B 7/¢— 3 3 52 A2
Behm |BEENET/— K 2 10 44 A3
Beh |BEE/IIET/— b 3 5 44 A3
Behm |BEE/IIET/— 4 5 52 A2
Beh |BEEE—TE7/{—t 3 5 50 A3
Behm |BERE—TE7/{—t 3 5 51 A3
Ahm | ABEB=TE7/<—h 1 3 52 A2
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P AMELREI=TH7T/*—+ 1 3 55 A2
Am™ AT DET/N— b 2 10 48 A2
T FARCTDET/N— 3 10 48 A3
Am™ AT DET/N— b 3 10 49 A3
AmE™ AT DET/N— | 6 11 52 A2/A3
BEE LT DET =k 7 10 52 A3
AT AT DET/N— b 9 10 52 A3
FhT |[BAEELREETESE2 78— 1 3 55 A2
AT PAHESTREMNTESE 2 7/¢— b 2 3 55 A2
BEE AHETRENTEE 2 7/8— b 3 3 55 A2
Am™ AMELREIMT B 7/¢— b 1 3 55 A2
Am™ ARELTRETMTE 7/¢— b 2 3 55 A2
AmE™ TARERE2 T7/8— 1 5 53 A2
Am™ THRRE2 T7/8—F 2 3 53 A2
Am™ TARERE 2 T7/8— 3 3 55 A2
P THRIEHE2 T7/8—F 4 3 55 A2
AmE™ THRERE2 T7/8— 5 3 53 A2
Am™ TARERE2 T7/8— 6 3 55 A2
™ AHRELRM=TEE2 7/°—t 1 4 55 A2
Fhm |[BAEELREH=TEE27/—k 2 4 55 A2
FhT |[BEELRE=TESE27/—t 3 4 55 A2
Fhm |AEELRE=TES2 7/t 4 4 55 A2
T BAHELRE=THEHE27/— 5 4 55 A2
T AMELRET—TEHT/S—+ 1 3 53 A2
EEE EOOLTEZTET7/S—F 1 3 55 A2
AT EOOLTyEZTE7/S—F 2 3 55 A2
A BEOoDOLyEZTH7/X—F 3 3 55 A2
BEE I A RAFE 78— b 1 4 55 A2
T ARRTFH 7 /83— b 2 4 55 A2
Am™ ARERAFE 7 /83— b 3 4 55 A2
AmE™ FAERFET 78— b 4 5 55 A2
Am™ AfmEEBE—TET /= 1 3 55 A2
AT AREB—TET /= 2 3 55 A2
T AREE—TBET /8= 3 3 55 A2
EEE AmEB—TBET /= 4 3 55 A2
AT EH—THT7 /= b 1 3 54 A2
AT FE—THT/¢—+ 2 3 54 A2
Am™ E—THT /= F 3 3 54 A2
AmE™ EH—THT /= b 4 3 54 A2
Am™ E—THT /= F 5 3 54 A2
Am™ EH—THT7 /= F 6 3 54 A2
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P E=THT/I\—F 1 3 52 A2
EEE E=THT/\—F 2 3 52 A2
T FE=TH7T/¢—+ 3 3 52 A2
Am™ EM=THT/\—F 4 3 52 A2
P EH=THT7 /= b 5 3 52 A2
BEE FEM=THT /= F 6 3 52 A2
EEE FE=THT /= F 7 3 52 A2
HTEH ETEHAETIYT B 7/8— b 1 5 54 A2
ETH ™ ETHRAETET B 77— b 2 5 54 A2
HTH ™ ETHAETET B 77— b 3 5 54 A2
ETH ™ ETEHAETYT B 7/8— b 4 5 55 A2
ETH ™ ETHAETMT § 7/¢— b 5 5 54 A2
HTEE ETEHAETPYT B 7/8— b 6 5 54 A2
ETH ™ ETHAETET B 7/¢— b 7 5 55 A2
HTEH ™ SFRE 3 T/N— b 1 3 54 A2
ATEH™ EH/E3T/A—h 2 3 54 A2
HTH ™ SHE 3 T7/8— b 3 3 54 A2
HTEH ™ EHREI T/ b 4 3 54 A2
ATEH™ EHREI T/ b 5 3 54 A2
HTH ™ SHE 3 T7/8— b 6 3 54 A2
ATEH ™ SRHEBE I3 T/N—= b 7 3 54 A2
ETH ™ ETHAERFZT /= 1 3 46 A2
HTEE ETEHAERB 7 /N— bk 2 3 46 A2
ATEH™ ETHFAEET /< — b 3 3 46 A2
ETH ™ BT EFT/— b 4 3 46 A2
ATEH™ ETHFAEFET/<— b 5 3 46 A2
ETH ™ BT EET/— b 6 3 46 A2
ETH ™ ETH+AEET/<— b 7 3 46 A2
ETH ™ HTHFRERT/S— b 8 3 46 A2
ETH ™ R T 78— b 11 5 51 A3
ATEH ™ R T /8— b 12 5 51 A2
ATEH ™ RSB T /¥ — b 13 4 51 A2
HTEH ™ FiAE T /8— b 14 4 51 A2
ATEH ™ RGBT /8— b 15 5 51 A2
ETH ™ RO T /8 — b 16 4 51 A2
HTEH ™ R T /8 — b 17 5 51 A2
ATEH™ RGBT /8— b 18 5 51 A3
HTEH ™ D AT 1 4 53 A2
ATEH ™ R /8— b 2 4 51 A2
ETH ™ RSO T /X — b 3 5 51 A2
HTEH ™ R T /8 — b 4 5 51 A2
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BTEH™ FiAET /< — b 10 53 A2
HTEH ™ RiAE T /8— b 5 51 A2
ATEH ™ RGBT /8— b 5 53 A2
BTEH™ R T /¥ — b 10 5 53 A2
ATEH ™ BEZTHT/I—h 1 5 52 A3
ATEH ™ EE=ZTHT/\—h 5 52 A2
HT HE-TH7/X—F 46 11 52 A2
HTH™ 1L g5 BT 77 /< — | 2 5 52 A3
HTEH™ (LSBT 77 78— b 3 3 52 A2
HTEH ™ WL BB 777X — b 4 3 52 A2
ATEH™ WL ET 777X — b 5 3 52 A2
HTEH ™ WL BT 7778 — b 6 3 52 A2
ATEH ™ WL IES BT 777X — K 7 3 52 A2
BTEH™ WL ET 77 /8 — b 8 3 52 A2
HTH ™ ETHE/HRE 2 7/8— b 1 3 52 A2
ETH ™ ETHE/HRE 2 7/8— F 2 3 52 A2
ETH ™ ETHEHRE 2 7/8— b 3 3 52 A2
HTEH ™ TBEMTHT7/8— b 1 5 52 A2
ATEH™ BEMNTHT /= 2 5 52 A3
ETH ™ LAEMNTET /= b 3 5 52 A3
ATEH™ TEMTHT7/8— b 4 5 52 A2
BTEH™ EUERRE 77/ — b 6 10 53 A2
HTEH ™ HER 77/ ¢— b 7 10 53 A2
ATEH™ EUER R 77/ — b 8 10 54 A2
WeHm  |[NEHEEIZTET /= b 37 3 54 A2
NeHFm N EHRIT=TE7/S—F 38 3 54 A2
NeFH  |NEHAETZTET7/I—F 8 3 45 A2
WNeHFm  |[NEHAEIZTET/$— b 11 6 46 A3
NeHm |NEHEE=TEH7/¢—h 1 3 52 A2
WNEHH |NEFERII=ZTET7/S—F 2 3 52 A2
/N FERABE__TH7/N— b 1 3 54 A2
/N FERAEARZTHEH7/X—+t 2 3 54 A2
N INESSARBEI—T B 7 /83— b 2 5 46 A3
N INESARBT—T B 7 /83— b 3 5 46 A3
/N EIKFEERT 78—k 1 3 52 A2
N EokEgET T /8= b 2 3 52 A2
IINETH FEAIT—THT /= 1 3 54 A2
/N FERAEE—TEH7/Y— 2 3 54 A2
HEFm HE L 77/v— b 4 5 44 A3
HEF ™ HE L 7/¢— b 5 5 44 A3
HEF BEF#H T /8— b 1 5 43 A2




BREE

X% Sip:ik2 SR P& MEEZ > 7
(RBFD)
HE ™ HE s 7 /85— b 3 5 43 A2
HEF HEF#TH T /83— b 4 5 43 A2
HE HE#H 7/¢— b 5 5 43 A2
HEFm HEHH 7 /85— b 6 5 43 A2
HEFm BEF#H T /8— b 7 5 43 A2
HE ™ HEs#H 7 /85— b 10 5 43 A2
HEFm BHEF#TH T /78— b 11 5 43 A2
HEFm BEF#TH T /78— b 12 5 43 A2
HE ™ HE s 7 /85— b 13 5 43 A2
HEm HEE=R7/N—*F 1 4 46 A2
HE ™ HE=R77/Y— b 2 4 46 A2
HE ™ HE=R77/Y— 3 5 46 A2
HE HE=R7/¢—h 4 5 46 A2
HE ™ HE=R7/Y—F 5 3 46 A2
BANL®  |EMLFLEZTE 7 /8= b 1 5 52 A2
BEANL™  |EMLFILEIZTE /8= b 6 5 54 A2
BRI | EANLFILE =T E /8 — b 7 3 50 A2
BALT RGBT B 7 /83— 1 3 55 A2
BEANLT  |ROEET—T B 7 /X— b 2 3 55 A2
BEALT  |RORET—T B 7 /8= 3 3 55 A2
ERLT |ZEBE—T B 7 /5= 1 5 46 A3
BALT  |EMLELERETT/S— b 1 3 50 A3
BTl [EMLELERET TS b 2 5 50 A2
BN LT E%ET:TEﬁ/\"— b 1 4 53 A2
B LT EH=TH7/%—+} 2 4 53 A2
EaFmh E rFEE—T B 7/8—+ 2 3 55 A2
BoaFhm |(BoFaEiI—TE7 /= 3 3 55 A2
EaFh [BELA=TH7/¢—+ 1 3 51 A2
EoFm |[BEA=ZTE7/S—F 2 3 51 A2
EoFm |EEA=ZTHEH®E27/8—F 1 3 53 A2
ELmh EZd=TH7/X— 1 3 46 A2
ESlivals] EZd=TH7/x\—F 2 3 52 A2
EShvays] EiI=TH7/Y—+ 2 3 53 A2
ESlvass] EZd=TH7/X— 3 3 52 A2
ESlivals] EiZd=TBH7/X—F 3 3 53 A2
EShvans] Exd=TB7/¢\—*t 4 3 46 A2
ESjvans] Exd=THT7/t—h 5 3 51 A2
Eirm EZd=TH7/X— 6 3 51 A2
ELmh EZd=TH7/X— 7 3 52 A2
EShvays] EZd=TBH7/{\—F 12 3 53 A2
ESfivass] Eszdk=TH7 /8= 13 3 51 A2




BRFEE

X4 M4 SR P24 MEEZ 7
(RBAD)
ESlvalss] EiZd=TB7/x\—F 14 3 51 A2
EShvays] Eizd=TH7/Y—+ 15 3 51 A2
EShvan ExE=THEH27/3—+F 1 3 54 A2
EShvays] EE=TH7/{—+ 1 3 48 A2
EL EIER=TH®27/{—+ 1 3 51 A2
EShvan s EIR=TH®27/f—+ 2 3 52 A2
EShva EZE=TH7/x\—F 1 3 53 A2
EShvas] EZA=TH7/X—} 2 3 54 A2
ESlivalss] W7 /8— b 1 5 43 A3
E3kvilys EWmE T /8= F 2 5 43 A2
ESlvals] S 7 /8= b 3 ) 43 A2
EL FEWmE T /= F 4 5 43 A2
EIL T EWE T /8= k 5 5 43 A2
ESkva¥ EZERZTH7/SX—F 1 3 49 A2
EShvas] EZERZTET7/X—F 2 3 49 A2
FEERR™  |EEAENT BT /N— b 1 8 51 A3
PR ™ HMARTE T B 77/8— b 3 4 51 A2
FERRM  |AEREMTE /= 1 4 55 A2
FEERm  |BERETETE 7 /N— b 2 4 55 A2
FERM  |AEREmMT B /= 3 4 55 A2
FERRM  |AREMTE /= 4 4 55 A2
FEERm  |EEME—THE7/\—F 1 3 50 A2
FERM  |EEEI—TE7/¢—h 2 3 50 A2
PSR T HEmET—T B 7/\—§ 17 3 52 A2
PSR ™ HMrEETm T B 77/8— b 1 5 52 A2
FERRm  |BERENT B 7/ N— b 25 3 52 A2
FEERm  |ARE—TB7/X—+ 1 4 55 A2
FEERM  |ERE—TEB7/\—+ 2 4 55 A2
EERM  |BRE—TB7/S—F§ 3 4 55 A2
FEERm  |ERE—TB7/X—+ 4 4 55 A2
FERRM  |ARE—TEB7/\—+ 5 4 55 A2
FEERMm  |HEZAROTET/¢— b 1 3 55 A2
FAER R ™ HEEZARMT B 7 /8— 2 4 55 A2
FAE R ™ HEZARMT B7 /83— 3 4 55 A2
FEERRm  |HEZAROTET/¢— b 4 4 55 A2
EERm  |EEZARETET/S— b 5 4 55 A2
FERT  |AEZARNT B 7/¢—k 6 3 55 A2
AERM  |EEZARETET/S—h 7 3 55 A2
FAE R ™ HEmAERT/mT B 7/8— 5 3 50 A2
FEERm  |EEREE—TE7/¢— b 1 4 55 A2
FAE R ™ AfEiL/RET—T B 7/¥— 2 4 55 A2




X% Mt S RS BEEE | smis s
(RBFD)
FERD  |BEEE T H 7/ h 3 4 55 A2
FERM  |EEAECTET/S— b 11 3 49 A2
PR R HEAETET B 7/N—h 12 3 49 A2
FERM  |HEXECTET/S—h 13 3 49 A2
FERm |EELKEETHE7/S—+ 14 3 53 A2
FEERRm  |HEREETHET7 /= 15 3 53 A2
FERm |EEREETH7/—+ 16 3 53 A2
R |EE\EAEETHE7/S—+ 17 3 53 A2
FERRm  |HEREETHET7 /= 18 3 53 A2
FERM  |EHEAECTET7/S—h 19 3 53 A2
FEERm |HEAREETHET /= 20 3 53 A2
FERh  |BEAIGTH T ¢ 21 3 53 A2
FERm |EE\ELKEETHE7/S—+ 22 3 53 A2
FEERm  |HEREETHET7 /= 23 3 53 A2
FERM  |EEAXECTET7/S—h 24 3 53 A2
PR R HEAETET B 7/X—h 25 3 53 A2
FAERRT |HEZARATET7/SN—F 30 3 50 A2
FERRM |HEZAR=ZTET7/I— 1 3 55 A2
FERG  |EES AR TAT/F 2 3 55 A2
mERD |EEIARSTHTA N 3 55 A2
EERT  |EMEAR=T AT/ F 3 55 A2
FERh  |EEEAR= T AT/ h 14 3 51 A2
BEERT  |HERsE=TH7/{—+h 15 3 51 A2
FERD  |EEmAE=TH 7/ ¢ 16 3 51 A2
FERM |HEmE=THE®E27/{—F 17 3 52 A2
FRRM |HEEmE=THEFE27/¢—+F 30 3 52 A2
FARRT |HEEAEMTESE27/¢—F 2 3 53 A2
FERm |EEmEETHEE2 7/85—F 3 3 53 A2
PR |AEZARATEE27T7/5—F 46 8 54 A3
FERm  |(HURZTE7/S—F 1 4 55 A2
FEERRMm  |(WURZTE7/¢—F 2 3 55 A2
AERm  |(HURZTE7/S—F 3 3 55 A2
FEERm  |(WURZTE7/S—F 4 3 55 A2
B BIT7 /= b 1 5 41 A3
AIH LT /88— b 2 5 41 A3
L BRI/ 8= 3 5 41 A3
AL WIT7 /= F 5 5 42 A2
BL LT /38— b 6 5 41 A3
BT WIT7/X—=F 7 5 41 A3
I LT /88— b 8 5 41 A3
L \IT7/ 8= 9 5 41 A3




BRFEE

X% Sip:ik2 SR P& MEEZ >
(RBFD)
AT LT /8— b 10 5 41 B1
AT LT /8— b 11 5 41 B1
|Im [JRIT/8—+h 12 5 41 B1
T LT /8— b 13 5 41 B1
WIm [JRIT /8= 14 5 41 B1
AT LT /8— b 15 5 41 B1
AT LT /85— b 16 5 41 B1
|Im [JRIT/8—+h 17 5 41 A3
AT LT /89— b 18 5 41 A3
WIm [JRIT /8= b 19 5 41 A3
|Im |[JRIT/8—+h 20 5 41 A3
AT LT /8— b 21 5 41 A3
WIm [JRIT/8—+h 22 5 41 A3
AT LT /8— b 23 5 41 A3
AT LT /8— b 25 5 41 A3
|Im |[JRIT /8= 26 5 41 A3
AT LT /89— b 28 5 41 A3
|Im [JRIT /8= 29 5 42 A3
mIm [JRIT/8—+b 30 5 42 A3
AT LT /8— b 31 5 42 A3
|Im [JRIT 8=+ 32 5 42 A3
AT LT /8— b 33 5 42 A3
BIm [JRIT/8—+h 34 5 42 A3
mIm |[JRIT/8—+b 36 5 42 A3
AT LT /85— b 37 5 42 A3
Im [JRIT /8= 38 5 42 A3
AT LT /89— b 39 5 42 A2
AT LT /8— b 40 5 42 A2
BIm [JRIT/8—+h 41 5 42 A2
T LT /98— b 42 5 42 A2
WIm [JRIT /8= 43 5 42 A2
AT LT /8— b 44 5 42 A2
AT LT /85— b 45 5 42 A2
|Im [JRIT/8—+h 46 5 42 A2
AT LT /89— b 47 5 42 A2
WIm [JRIT /8= b 48 5 42 A2
L™ I T7/8— b 49 5 42 A2
AT LT /8— b 50 5 42 A2
=P ] MIL=TB7/¢—h 1 4 53 A2
=gl MIL=TH7 /%= 10 4 53 A2
=P ] MIL=THE7 /%= 11 4 53 A2




BRFEE

X% Sip:ik2 SR P& MEEZ > 7
(RBFD)
=gl MIL=TB7/%—F 1 4 55 A3
=P ] BEME—TB7/¢— 3 3 50 A2
=Pl BETE—TB7/¢—+t 4 3 53 A2
BT BEMTE—THEH7T /= 5 3 52 A2
=P BEMTE—TB7 /3=t 6 3 52 A2
=gl EETE—TB7/¢—t 7 3 50 A2
=gl BEMTE—TB7/¢— 12 3 52 A2
=P HHEMTE—TB7 /3=t 13 3 53 A2
=gl EETE—TB7/¢— 17 3 50 A2
=P ] MILZTB7/8—h 1 3 55 A2
=Pl MILZTE7/¢—F 2 4 55 A2
=gl MIL=THEE 2 7/8— 20 4 53 A2
=P ] MIL=THS$E 2 7/8— 22 3 53 A2
=gl MIL=THBE27/¢— 25 3 53 A2
=P ] MIL=THE 2 7/8— 3 4 53 A2
=Pt ERITEI ZTB 7/~ b 21 3 55 A2
=gl BRITTEI ZTB7/%— b 22 3 55 A2
=Pl BRITEIZTBE7/¢— b 23 3 55 A2
=gl FIEATH /= bk 1 4 53 A2
=Pl BIEATH 7 /8— b 2 3 54 A2
=P ] BIEATHT7/8— b 3 4 54 A3
=gl FIEATHT /= bk 3 4 55 A3
=P ] BRTEIZTEEZ 2 7/%—+ 1 3 55 A2
=gl ERITTEI ZTBEE 2 7/8—+ 2 3 55 A2
=gl BRETTEI ZTBE 2 7/8—+ 3 3 55 A2
=] BEBEMTE=TH7/Y\—+} 1 5 51 A3
=gl EEMTE=TB7/¢— 2 5 51 A3
RARKT |A\BEEE 1 7/8— b 1 5 47 A2
BARKT |/\EEE 1 T7/8—F 2 5 47 A2
RABKM |/A\IEEZE 1 7/¢— b 3 5 47 A2
BABKS |\IEETE 1 7/8— b 4 5 47 A2
BARKS |\IEEE 1 7/8— b 5 5 47 A2
RARKT |A\BEEE 1 7/8— b 6 5 47 A2
BABKS |/\IEETE 1 78— b 7 5 47 A2
RARKT |RARKN\EETE 3 7/3—h 22 3 51 A2
BEALT (AL 78—k 24 5 39 A3
BEA LT (AL 77—k 25 5 39 A3
BEEMLH (AL 7 8= b 26 5 39 A3
EEALT (AL 7=k 32 5 39 A3
EEMLH (AL 7 /8= b 33 5 40 A3
EEATILT (AL 7=k 41 5 40 A3




BRFEE

X4 Mt % SR P& %K MRS > o
(RBAD)

EEAT LT |FL77 /8 — b 42 5 39 A3
SEN  |EEZ1—4 7 EHER 4-2-1 5 44 A2
SED BB 1— & EHER 4-2-2 5 a4 A2
ZEN  |EEZ -2 WHEM 4-2-4 5 44 A2
SED  |SEZa—av EHER 4-2-5 5 44 A2
SEH  |ZE=a— 42U EpER 4-2-6 5 44 A2
SEN  |SZEZ -2 EE 4-2-7 5 44 A2
SEN  |SEZa—2 7 BHEM 4-2-8 5 44 A2
ZEM  |ZEZ1—2 v EHE 4-2-9 5 44 A2
SEN  |SEZ1—4 7 EHER 4-2-10 5 44 A2
LEH  |$EZ2—27  FHER 4-3-3 5 44 A2
LEH  |ZE= a2 EHER 4-3-4 5 a4 A2
LEH  |BE= -2 BHER 4-3-5 5 44 A2
ZEM  |ZEZ1—2 7 EHE 4-3-6 5 a4 A2
SEN  |SEZ1—4 7 EHER 4-3-7 5 44 A2
SED |BE=1— 4 EBER 4-3-8 5 a4 A2
ZEN  |ZEZ -2 WHEM 4-3-9 5 44 A2
ZEN  |ZEZa1—x7 Y EHHEM 4-3-10 5 44 A2
SET |SEZ a2 HHER 5-2-1 5 44 A2
SED  |BEZ 227V RHEM 5-2-2 5 44 A2
SEM  |ZEZa—2 7 EpE 5-2-3 5 a4 A2
ZEM  |ZEZ1—2 7 EHE 5-2-4 5 a4 A2
ZEN  |ZEZa1—x7 Y EHHEM 5-2-5 5 44 A2
SED  |BEZ 21— WHER 5-2-7 5 44 A2
SEM |ZE=a—g v FiE 5-2-8 5 44 Az
SEM  |ZEZ -2 EipE 5-2-9 5 a4 A2
SEH  |BEZa— 4 EBER 5-2-10 5 44 A2
SEN  |ZEZ -2 EipE 5-2-11 5 44 A2
Y B s ke 3-1-1 11 51 A2
ZEN  |(FEZa—g v rBpE 4-2-11 5 51 A2
LEH  |SE=a—27  FHER 4-2-12 5 51 A2
SED  |ZE=a— 42U EpER 4-4-1 5 51 A2
SEN  |ZEZ -2 EiE 4-4-2 5 51 A2
SEM  |ZEZa—2 7 NHEE 3-4-1 5 45 A2
ZED  |BEZ -2 A 3-4-2 5 45 A2
SEN  |HZEZ1—4 7 AR 3-4-3 5 45 A2
LEM  |HFEZa—% 7 AEM 3-4-4 5 45 A2
ZEN  |BEZa—2 7 A 3-4-5 5 45 A2
SES  |SE=a—av B 3-5-1 5 45 A2
SEH  |SEZ1—4 v A 3-5-2 5 45 A2
ZE®m | ZEZa1—27NEEM 3-5-3 5 45 A2




BRFEE

X4 SR A7
(RB#0)
% BET SEE= 1 —4& ™ VB 3-5-4 45 A2
ZEE™ ZLE=Z 12— AR 3-5-5 45 A2
% EETH ZEZ1—x7 AR 3-7-1 45 A2
S EET SEE= 1 —4& Y VB 3-7-2 45 A2
S EETh SEEZ 1 —4&YVEENN 1-2-1 45 A2
% BET SE=Z L —4YyEEHK 1-2-2 45 A2
S EETS GEEZ 1 —4&YVEENN 1-3-1 5 45 A2
S EETh GE= 1 —& Y VvERFK 1-3-2 5 45 A2
% EETh SE=Z -4y EEHK 3-4-1 5 45 A3
% EE™ SEZ_1—X77yEEMEM 3-4-2 5 45 A3
S EETh GE= 1 —&Y Vv EEFK 3-4-3 6 45 A3
Z%EH SLEZ -7 vEEEM 3-4-4 4 45 A3
S EETS SEEZ 1 —4&YVvEENN 3-4-5 4 45 A3
S EETh SE=Z L —47YyEEHR 3-4-6 4 45 A3
S EETh SEEZ 1 —4YVEENN 4-1-1 6 45 A3
S EETh GE= 1 —& Y Vv EEF 4-1-2 5 45 A3
S EETh GEZ 1 —4Y Vv EEFN 4-1-3 4 45 A3
% EETS SEZ 1 —&YVvEEMN 4-1-4 5 45 A3
A GEE= 21— &Y vEASHR 4-4-1 5 48 A2
S EET SEEZ 41— &Y VEASHM 4-4-2 5 48 A2
%EH SEZ 11— VERAHM 4-4-3 5 48 A2
S EET GEE= 1 —& Y VEASHR 4-4-4 5 48 A2
%EH ZLE=Z 21— REHM 4-4-5 5 48 A2
S EETH GE= 1 —& Y VESHR 4-4-6 5 48 A2
S EETh GEEZ 1 —&Y v ES EHH 6-1-1 5 48 A3
ZE™ ZEZa2—x7E5 MM 6-1-2 5 48 A3
% EETH GEEZ 1 —&YES 6-1-3 5 48 A2
% EETH SE—_a1—X7 85 Bt 6-1-4 5 48 A2
S EETh SLEE= 1 —4& v BERER 5-1-1 5 50 A2
%EEH ZE=—1—x7 >y BEEAK 5-1-2 5 50 A2
%EH ZEZ1—x7 >y BEER 5-1-3 5 50 A2
ZEEH ZE—Z1—x7 B 2-4-1 5 51 A2
S EETS SEEZ 1 —4& ™ BEIREH 2-4-2 5 51 A2
LEH |ZEZa—47 > BIEH 2-4-3 5 51 A2
%EEH SLE=—1—x7 >y BEEAK 3-1-1 5 52 A2
% EE™ SE—1—x7 > BEREAM 3-1-2 5 52 A2
ZEE™ SEZ1—x7 > BEER 3-1-3 5 52 A2
2EE 2B &Y BEEH 3-2-1 5 52 A2
% EE™ SE—1—x7 > BEREH# 3-2-2 5 52 A2
%EEH ZE=—1—x7 v BEEAK 3-2-3 5 52 A2
% E™ SZE—1—4x7 > BEEAM 3-2-4 5 52 A2




BRFEE

X b4 SR Bkt mEEZ > o
(RB#D)
ZEM ZE=—1—4%7 AREH 3-2-5 5 52 A2
ZEE™ ZE= 21— BREH 3-2-6 5 52 A2
ZE™ ZE= 21— BEEH 3-2-7 5 52 A2
ZEM LE= 21— X7 VEKRE 1 5 55 A2
ZEM ZE= 21— X7V ERE 2 5 55 A2
ZEE™ ZE= 21— 27 VEBENEH 3 5 55 A2
ZEE™ LE= 21— X7 BN EH 4 5 55 A2
ZE™ ZE= 21— v EREM 5 3 55 A2
ZEM LE= 21— X7 VEKRE 6 3 55 A2
ZEM ZEZ 21— &7 EREM 7 3 55 A2
ZE™ ZE= 21— &7 v EREM 8 3 55 A2
ZEE™ LEZ 21— %7 BEREH 9 3 55 A2
ZEM ZEZ 12— &7 EREM 10 3 55 A2
ZEM ZEZ 21— &7 BN 11 3 55 A2
ZEM ZE= 12— &7 v EREH 12 3 55 A2
fRmh TR 2 78— b 1 5 42 A3
fem  |FEWE 2 78—t 2 5 45 A3
femm  |fEWE 2 78— b 3 5 50 A3
fEm TR ET /S — b 1 5 51 A2




